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� H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| _w{ÐV n¥ð> 23 h¢Ÿ& 

� àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> 
na {bI|& 

� H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| 39 àíZ h¢& 
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Adí` {bI|& 
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Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m _| H$moB© CÎma Zht {bI|Jo& 

� Please check that this question paper contains 23 printed pages. 

� Q.P. Code given on the right hand side of the question paper should be written 
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� Please check that this question paper contains 39 questions. 

� Please write down the Serial Number of the question in the answer-book 

before attempting it. 

� 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on the 

answer-book during this period. 

{dkmZ (g¡ÕmpÝVH$)  

SCIENCE (Theory) 

{ZYm©[aV g_` … 3 KÊQ>o 
Time allowed : 3 hours 

A{YH$V_ A§H$ … 80 
Maximum Marks : 80 

 

31/4/1 
àíZ-nÌ H$moS> 
Q.P. Code 

 

narjmWu àíZ-nÌ H$moS> H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð> na Adí` {bI|Ÿ& 
Candidates must write the Q.P. Code 
on the title page of the answer-book. 

SET~1 Series Z1XYW/4 

 

amob Z§. 
Roll No. 
 

# 



  

31/4/1   2

gm_mÝ` {ZX}e … 
{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m nmbZ H$s{OE … 
(i) Bg àíZ-nÌ _| 39 àíZ h¢Ÿ& g^r àíZ A{Zdm ©̀ h¢Ÿ& 
(ii) àíZ-nÌ nm§M IÊS>m| _| {d^m{OV h¡ - IÊS> H$, I, J, K VWm ‹S>Ÿ& 
(iii) IÊS> H$ _| àíZ g§»`m 1 go 20 VH$ ~hþ{dH$ënr` àH$ma Ho$ EH$-EH$ A§H$ Ho$ àíZ h¢Ÿ& 
(iv) IÊS> I _| àíZ g§»`m 21 go 26 VH$ A{V bKw-CÎmar` (VSA) àH$ma Ho$ Xmo-Xmo A§H$m| Ho$ àíZ 

h¢Ÿ& BZ àíZm| Ho$ CÎma 30 go 50 eãXm| _| {XE OmZo Mm{hEŸ& 
 (v) IÊS> J _| àíZ g§»`m 27 go 33 VH$ bKw-CÎmar` (SA) àH$ma Ho$ VrZ-VrZ A§H$m| Ho$ àíZ h¢Ÿ& BZ 

àíZm| Ho$ CÎma 50 go 80 eãXm| _| {XE OmZo Mm{hEŸ& 
(vi) IÊS> K _| àíZ g§»`m 34 go 36 VH$ XrK©-CÎmar` (LA) àH$ma Ho$ nm§M-nm§M A§H$m| Ho$ àíZ h¢Ÿ& 

BZ àíZm| Ho$ CÎma 80 go 120 eãXm| _| {XE OmZo Mm{hEŸ& 
(vii) IÊS> ‹S> _| àíZ g§»`m 37 go 39 VH$ òmoV AmYm[aV / àH$aU AmYm[aV BH$mB`m| Ho$ _yë`m§H$Z 

Ho$ Mma-Mma A§H$m| Ho$ àíZ (Cn-àíZm| g{hV) h¢Ÿ& 
(viii) àíZ-nÌ _| g_J« {dH$ën Zht {X`m J`m h¡Ÿ& `Ú{n, Hw$N> IÊS>m| _| AmÝV[aH$ {dH$ën {XE JE h¢Ÿ& 

 IÊS> - H$  
 (~hþ{dH$ënr` àíZ) 

1.  O~ gmo{S>`_ ~mBH$m~m}ZoQ> hmBS´>moŠbmo[aH$ Aåb go A{^{H«$`m H$aVm h¡, Vmo : 1 

(a) hmBS´>moOZ J¡g {ZH$bVr h¡ Omo ObVr Vrbr go nm°n Üd{Z XoVr h¡Ÿ& 

(b) hmBS´>moOZ J¡g {ZH$bVr h¡ Omo MyZo Ho$ nmZr H$mo Xy{Y`m H$a XoVr h¡Ÿ& 

(c) H$m~©Z S>mBAm°ŠgmBS> J¡g {ZH$bVr h¡ Omo MyZo Ho$ nmZr H$mo Xy{Y`m H$a XoVr h¡Ÿ& 

(d) H$m~©Z S>mBAm°ŠgmBS> J¡g {ZH$bVr h¡ Omo ObVr Vrbr H$mo nm°n Üd{Z Ho$ gmW ~wPm XoVr h¡Ÿ& 

2.  O~ nmoQ>¡{e`_ Am`moS>mBS> Am¡a boS> ZmBQ´>oQ> Ho$ Obr` {db`Z {_bVo h¢ Vmo EH$ A{dbò  nXmW© 
AbJ hmo OmVm h¡Ÿ& Bg_| hmoZo dmbr A{^{H«$`m H$m amgm`{ZH$ g_rH$aU h¡ … 1 
(a) KI + PbNO3 PbI + KNO3 

(b) 2KI + Pb(NO3)2 PbI2 + 2KNO3 

(c) KI + Pb(NO3)2 PbI + KNO3 

(d) KI + PbNO3 PbI2 + KNO3 

3.  {H$gr YmVw ‘X’ H$m [a~Z Am°ŠgrOZ _| MH$mMm¢Y H$aZo dmbo ídoV àH$me H$s Ádmbm go ObVm 
h¡ {Og_| H$moB© ídoV amI ‘Y’ ~ZVr h¡Ÿ& Bg A{^{H«$`m _| X,Y Am¡a hmoZo dmbr A{^{H«$`m Ho$ 
àH$ma H$m ghr {ddaU Bg àH$ma h¡ … 1 

(a) X = Ca ; Y = CaO ; A{^{H«$`m H$m àH$ma = {d`moOZ 

(b) X = Mg ; Y = MgO ; A{^{H«$`m H$m àH$ma = g§̀ moOZ 

(c) X = Al ; Y = Al2O3 ; A{^{H«$`m H$m àH$ma = D$î_r` {d`moOZ 

(d) X = Zn ; Y = ZnO ; A{^{H«$`m H$m àH$ma = D$î_memofr 

4.  Q>_mQ>a _| CnpñWV Aåb h¡ … 1 

(a) _oWmZm°BH$ Aåb (b) Eogr{Q>H$ Aåb 
(c) b¡pŠQ>H$ Aåb (d) Am°Šg¡{bH$ Aåb 
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GENERAL INSTRUCTIONS : 
Read the following instructions very carefully and follow them : 

(i) This question paper consists of 39 questions. All questions are compulsory. 

(ii) Question paper is divided into FIVE sections – Section A, B, C, D and E. 

(iii) In section A – question number 1 to 20 are multiple choice questions (MCQs) carrying  

1 mark each. 

(iv) In section B – question number 21 to 26 are very short answer (VSA) type questions carrying 

2 marks each. Answer to these questions should be in the range of 30 to 50 words. 

(v) In section C – question number 27 to 33 are short answer (SA) type questions carrying  

3 marks each. Answer to these questions should in the range of 50 to 80 words. 

(vi) In section D – question number 34 to 36 are long answer (LA) type questions carrying  

5 marks each. Answer to these questions should be in the range of 80 to 120 words. 

(vii) In section E – question number 37 to 39 are of 3 source based/case based units of 

assessment carrying 4 marks each with sub-parts. 

(viii) There is no overall choice. However, an internal choice has been provided in some sections. 

 SECTION – A 

 (Multiple Choice Questions) 

1. When Sodium bicarbonate reacts with dilute hydrochloric acid, the gas 

evolved is : 1 

(a) Hydrogen; it gives pop sound with burning match stick. 

(b) Hydrogen; it turns lime water milky. 

(c) Carbon dioxide; it turns lime water milky. 

(d) Carbon dioxide; it blows off a burning match stick with a pop sound. 

2. When aqueous solutions of potassium iodide and lead nitrate are mixed, an 

insoluble substance separates out. The chemical equation for the reaction 

involved is : 1 

(a) KI + PbNO3 PbI + KNO3 

(b) 2KI + Pb(NO3)2 PbI2 + 2KNO3 

(c) KI + Pb(NO3)2 PbI + KNO3 

(d) KI + PbNO3 PbI2 + KNO3 

3. A metal ribbon ‘X’ burns in oxygen with a dazzling white flame forming a 

white ash ‘Y’. The correct description of X, Y and the type of reaction is : 1 

(a) X = Ca ; Y = CaO ; Type of reaction = Decomposition 

(b) X = Mg ; Y = MgO ; Type of reaction = Combination  

(c) X = Al ; Y = Al2O3 ; Type of reaction = Thermal decomposition 

(d) X = Zn ; Y = ZnO ; Type of reaction = Endothermic  

4. Acid present in tomato is : 1 

(a) Methanoic acid (b) Acetic acid 

(c) Lactic acid (d) Oxalic acid 
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5.  gmo{S>`_ hmBS´>m°ŠgmBS> jma (EoëH$br) h¡ O~{H$ \o$[aH$ hmBS´>m°ŠgmBS> jma (EoëH$br) Zht h¡, 

Š`m|{H$ … 1 

(a) gmo{S>`_ hmBS´>m°ŠgmBS> à~b jmaH$ h¡ O~{H$ \o$[aH$ hmBS´>m°ŠgmBS> Xw~©b jmaH$ h¡Ÿ& 

(b) gmo{S>`_ hmBS´>m°ŠgmBS> Eogm jmaH$ h¡ Omo Ob _| {dbò  h¡ O~{H$ \o$[aH$ hmBS´>m°ŠgmBS> ^r 
jmaH$ h¡ naÝVw `h Ob _| {dbò  Zht h¡Ÿ& 

(c) gmo{S>`_ hmBS´>m°ŠgmBS> à~b jmaH$ h¡ O~{H$ \o$[aH$ hmBS´>m°ŠgmBS> à~b Aåb h¡Ÿ& 

(d) gmo{S>`_ hmBS´>m°ŠgmBS> Am¡a \o$[aH$ hmBS´>m°ŠgmBS> XmoZm| hr à~b jmaH$ h¢ naÝVw gmo{S>`_ 
hmBS>m°ŠgmBS> H$s Ob _| {dbò Vm \o$[aH$ hmBS´>m°ŠgmBS> H$s Ob _| {dbò Vm H$s VwbZm _| 
A{YH$ h¡Ÿ& 

6.  Ob H$s H$R>moaVm H$mo Xya H$aZo Ho$ {bE Cn`moJ {H$E OmZo dmbo bdU H$m Zm_ h¡ … 1 

(a) gmo{S>`_ hmBS´>moOZ H$m~m}ZoQ> (NaHCO3) 

(b) gmo{S>`_ ŠbmoamBS> (NaCl) 

(c) gmo{S>`_ H$m~m}ZoQ> S>oH$mhmBS´>oQ> (Na2CO3.10H2O) 

(d) H¡$pëg`_ gë\o$Q> ho_rhmBS´>oQ> (CaSO4. 
1

2
H2O) 

7.  ŠbmoarZ Ho$ AUw H$s BboŠQ´>m°Z-{~ÝXw g§aMZm h¡ … 1 

(a)  (b)  

(c)  (d)  

8.  ZrMo {XE JE AmaoI H$m àojU H$s{OE Am¡a Bg_| hmo ahr à{H«$`m Am¡a BgHo$ _hÎd H$s nhMmZ 

ZrMo {XE JE {dH$ënm| _| go H$s{OE … 1 

 

 

 

 

 

 

(a) dmînZ … n{Îm`m| H$s H$mo{eH$mAm| _| Ob H$mo ~ZmE aIVm h¡Ÿ& 

(b) dmînmoËgO©Z … MyfU ~b CËnÞ H$aVm h¡ Omo nmXn Ho$ ^rVa Ob H$mo ItMVm h¡Ÿ& 

(c) CËgO©Z … nmXn go An{eï> Ob H$mo CËg{O©V H$aZo _| ghm`Vm H$aVm h¡Ÿ& 

(d) ñWmZmÝVaU … EH$ H$mo{eH$m go Xygar H$mo{eH$m H$mo nXmWm] Ho$ n[adhZ _| ghm`Vm H$aVm h¡Ÿ& 
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5. Sodium hydroxide is termed an alkali while Ferric hydroxide is not 

because : 1 

(a) Sodium hydroxide is a strong base, while Ferric hydroxide is a weak 

base. 

(b) Sodium hydroxide is a base which is soluble in water while Ferric 

hydroxide is also a base but it is not soluble in water. 

(c) Sodium hydroxide is a strong base while Ferric hydroxide is a strong 

acid. 

(d) Sodium hydroxide and Ferric hydroxide both are strong base but the 

solubility of Sodium hydroxide in water is comparatively higher than 

that of Ferric hydroxide. 

6. The name of the salt used to remove permanent hardness of water is : 1 

(a) Sodium hydrogen carbonate (NaHCO3) 

(b) Sodium chloride (NaCl) 

(c) Sodium carbonate decahydrate (Na2CO3.10H2O) 

(d) Calcium sulphate hemihydrate (CaSO4. 
1

2
H2O) 

7. The electron dot structure of chlorine molecule is : 1 

(a)  (b)  

(c)  (d)  

8. Observe the following diagram and identify the process and its 

significance from the following options : 1 

 

 

 

 

(a) Evaporation : maintains water contents in leaf cells. 

(b) Transpiration : creates a suction force which pulls water inside the 

plant. 

(c) Excretion : helps in excreting out waste water from the plant. 

(d) Translocation : helps in transporting materials from one cell to 

another. 
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9.  a§Y«m| Ho$ IwbZo Am¡a ~ÝX hmoZo H$m H$maU h¡ … 1 
(a) H$mo{eH$mAm| Ho$ ^rVa J¡gm| H$m Cƒ Xm~ 
(b) Ûma H$mo{eH$mAm| _| Ob H$s ~mha Am¡a ^rVa J{V 
(c) Ûma H$mo{eH$mAm| _| àH$me H$m CÔrnZ 
(d) Ûma H$mo{eH$mAm| _| CO2 H$m ^rVa Am¡a ~mha {dgaU 

10.  ídoV nwînm| Ho$ _Q>a Ho$ nm¡Ym| (vv) Am¡a ~¢JZr nwînm| Ho$ _Q>a Ho$ nm¡Ym| (VV) Ho$ ~rM g§H$aU Ho$ 
n[aUm_ñdê$n F2 g§V{V àmá hþB©, {Og_| ~¢JZr (VV) Am¡a ídoV (vv) nwînm| dmbo nm¡Ym| H$m 
AZwnmV hmoJm … 1 
(a) 1 : 1 (b) 2 : 1 (c) 3 : 1 (d) 1 : 3 

11.  nmXnm| _| gmBQ>moH$mB{ZZ H$s ŷ{_H$m hmoVr h¡ … 1 
(a) H$mo{eH$m-{d^mOZ H$mo ào[aV H$aZm& (b) n{Îm`m| H$m _waPmZm& 
(c) a§Y«m| H$mo ImobZo Ho$ {bE ào[aV H$aZm& (d) VZo H$s d¥{Õ _| ghm`Vm H$aZmŸ& 

12.  b¢{JH$ OZZ H$aZo dmbo ñnrerµO Ho$ OZH$m| Am¡a g§V{V`m| _| JwUgyÌm| H$s g§»`m {Z`V hmoZo H$m 
H$maU h¡ … 1 
(a) `w½_ZO ~ZZo Ho$ níMmV² JwUgyÌm| H$m Xmo JwZm hmoZm& 
(b) `w½_ZO ~ZZo Ho$ níMmV² JwUgyÌm| H$m AmYm hmoZm& 
(c) `w½_H$ ~ZZo go nyd© JwUgyÌm| H$m Xmo JwZm hmoZm& 
(d) `w½_H$ ~ZVo g_` JwUgyÌm| H$m AmYm hmoZmŸ& 

13  12W Am¡a 6W Ho$ Xmo LED ~ë~ loUr _| g§̀ mo{OV h¢Ÿ& `{X 12W Ho$ ~ë~ go 0.06A Ymam 
àdm{hV hmo ahr h¡, Vmo 6W Ho$ ~ë~ go àdm{hV Ymam hmoJr … 1 
(a) 0.04A (b) 0.06A (c) 0.08A (d) 0.12A 

14. {H$gr Ymamdmhr d¥ÎmmH$ma nme Ûmam CËnÞ Mwå~H$s` joÌ H$s Mwå~H$s` joÌ aoImAm| H$m ghr n¡Q>Z© h¡ … 1 

(a)  (b)  

(c)   (d)  
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9. Opening and closing of stomata is due to : 1 

(a) High pressure of gases inside the cells. 

(b) Movement of water in and out of the guard cells. 

(c) Stimulus of light in the guard cells. 

(d) Diffusion of CO2 in and out of the guard cells. 

10. A cross between pea plant with white flowers (vv) and pea plant with 

violet flowers (VV) resulted in F2 progeny in which ratio of violet (VV) 

and white (vv) flowers will be : 1 

(a) 1 : 1 (b) 2 : 1 (c) 3 : 1 (d) 1 : 3 

11. In plants the role of cytokinin is : 1 

(a) Promote cell division. (b) Wilting of leaves. 

(c) Promote the opening of stomatal pore. (d) Help in the growth of stem.  

12. The number of chromosomes in parents and offsprings of a particular 

species undergoing sexual reproduction remain constant due to : 1 

(a) doubling of chromosomes after zygote formation. 

(b) halving of chromosomes after zygote formation. 

(c) doubling of chromosomes before gamete formation. 

(d) halving of chromosomes at the time of gamete formation. 

13. Two LED bulbs of 12W and 6W are connected in series. If the current 

through 12W bulb is 0.06A the current through 6W bulb will be : 1 

(a) 0.04A (b) 0.06A (c) 0.08A (d) 0.12A 

14. The correct pattern of magnetic field lines of the field produced by a 

current carrying circular loop is : 1 

(a)   (b)  

 

 

(c)   (d)  
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15.  {H$gr à{VamoYH$ Ho$ _mZ H$mo KQ>mH$a CgHo$ àmapå^H$ _mZ H$m AmYm H$a {X`m J`m h¡Ÿ& `{X {dÚwV 

n[anW Ho$ AÝ` àmMbm| _| H$moB©© n[adV©Z Zht hmoVm h¡, Vmo à{VamoYH$ _| CËnÞ D$î_m hmoJr … 1 

(a) Mma JwZr (b) Xmo JwZr 

(c) AmYr (d) Mm¡WmB© 

16.  Xem©E AZwgma H$moB© Eë\$m H$U {H$gr EH$g_mZ Mwå~H$s` joÌ _| àdoe H$aVm h¡Ÿ& Bg Eë\$m H$U 

na Amamo{nV ~b H$s {Xem hmoJr … 1 

(a) XmBª Amoa 

(b) ~mBª Amoa 

(c) H$mJµO _| ^rVa H$s Amoa OmVo hþE 

(d) H$mJµO go ~mha H$s Amoa AmVo hþE 

àíZ g§»`m  17 go 20 VH$ A{^H$WZ Am¡a H$maU Am Ym[aV à íZ h¢Ÿ& 

BZ_| Xmo H$WZ, A{^H$WZ (A) Am¡a H$maU (R) {XE JE h¢Ÿ& ZrMo {XE JE {dH$ë nm| _| go Cn ẁ º $ 
{dH$ën H$m  M`Z H$aVo hþE BZ àíZm| Ho$ CÎma Xr{OEŸ& 

(a) (A) VWm (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡Ÿ& 

(b) (A) VWm (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡Ÿ& 

(c) (A) gË` h¡ naÝVw (R) AgË` h¡Ÿ& 

(d) (A) AgË` h¡ naÝVw (R) gË` h¡Ÿ& 

17.  A{^H$WZ (A) … {~Zm ~wPo MyZo H$s nmZr go A{^{H«$`m D$î_mjonr A{^{H«$`m h¡Ÿ& 

 H$maU (R) … {~Zm ~wPm MyZm nmZr go ~hþV Vrd« A{^{H«$`m H$aHo$ AË`{YH$ _mÌm _| D$î_m 

CËnÞ H$aVm h¡Ÿ& 1 

18.  A{^H$WZ (A) … _mZdm| _| `{X H$mbo ZoÌm| Ho$ {bE OrZ (B) CÎmaXm`r h¡ Am¡a ŷao ZoÌm| Ho$ 

{bE OrZ (b) CÎmaXm`r h¡, Vmo {Og g§V{V H$m OrZ g§̀ moOZ Bb, bb AWdm BB h¡, Vmo CgHo$ 
ZoÌm| H$m dU© (a§J) Ho$db H$mbm hr hmoJmŸ& 

 H$maU (R) … ZoÌm| H$m H$mbm dU© à^mdr bjU h¡Ÿ& 1 

19. A{^H$WZ (A) … jwÐm§Ì Ho$ AmÝV[aH$ AmñVa na AZoH$ A§Jwbr O¡go àdY© hmoVo h¢, {OÝh| 

XrK©amo_ H$hVo h¢ Am¡a BZ_| é{Ya H$s ~hþVm`V hmoVr h¡Ÿ& 

 H$maU (R) … BZ XrK©amo_m| H$m n¥ð>r` joÌ\$b A{YH$ hmoVm h¡, Omo ^moOZ Ho$ nyU© nmMZ _| jwÐm§Ì 

H$s ghm`Vm H$aVm h¡Ÿ& 1 

20.  A{^H$WZ (A) … O~ {H$gr Ymamdmhr grYo MmbH$ H$mo Mwå~H$s` joÌ _| CgH$s {Xem Ho$ 
bå~dV² aIm OmVm h¡, Vmo dh MmbH$ ~b H$m AZw^d H$aVm h¡Ÿ& 

 H$maU (R) … {H$gr Ymamdmhr MmbH$ na ZoQ> Amdoe eyÝ` hmoVm h¡Ÿ& 1 
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15. The resistance of a resistor is reduced to half of its initial value. If other 

parameters of the electrical circuit remain unaltered, the amount of heat 

produced in the resistor will become : 1 

(a) four times (b) two times 

(c) half  (d) one fourth 

16. An alpha particle enters a uniform magnetic field as shown. The direction 

of force experienced by the alpha particle is : 1 

(a) towards right 

(b) towards left 

(c) into the page 

(d) out of the page 

Q. No. 17 to 20 are Assertion – Reasoning based questions. 

These consist of two statements – Assertion (A) and Reason (R). Answer 

these questions selecting the appropriate option given below. 

(a) Both (A) and (R) are true and (R) is the correct explanation of (A). 

(b) Both (A) and (R) are true but (R) is not the correct explanation of (A). 

(c) (A) is true but (R) is false. 

(d) (A) is false but (R) is true. 

17. Assertion (A) : Reaction of Quicklime with water is an exothermic 

reaction. 

 Reason (R) : Quicklime reacts vigorously with water releasing a large 

amount of heat. 1 

18. Assertion (A) : In humans, if gene (B) is responsible for black eyes and 

gene (b) is responsible for brown eyes, then the colour of eyes of the 

progeny having gene combination Bb, bb or BB will be black only.  

 Reason (R) : The black colour of the eyes is a dominant trait. 1 

19. Assertion (A) : The inner walls of the small intestine have finger like 

projections called villi which are rich in blood.  

 Reason (R) : These villi have a large surface area to help the small 

intestine in completing the digestion of food. 1 

20. Assertion (A) : A current carrying straight conductor experiences a force 

when placed perpendicular to the direction of magnetic field.  

 Reason (R) : The net charge on a current carrying conductor is always 

zero. 1 
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 IÊS > - I 
 (A{V bKw-CÎmar` àíZ) 
21. (A) {H$gr N>mÌ Zo EH$ e§ŠdmH$ma âbmñH$ _| H$m°na Am°ŠgmBS> H$s Hw$N> _mÌm boH$a Cg_| 

{_lU H$mo bJmVma {dbmo{S>V H$aVo hþE VZw hmBS´>moŠbmo[aH$ Aåb {_bm`mŸ& CgZo {db`Z 
Ho$ a§J _| n[adV©Z H$m àojU {H$`mŸ& 2 

(i) ~ZZo dmbo `m¡{JH$ H$m Zm_ Am¡a CgH$m a§J {b{IEŸ& 

(ii) hmoZo dmbr A{^{H«$`m H$m g§Vw{bV amgm`{ZH$ g_rH$aU Xr{OEŸ& 

AWdm 

 (B) H$m°pñQ>H$ gmoS>m Ho$ Am¡Úmo{JH$ {Z_m©U H$s à{H«$`m _| {H$gr `m¡{JH$ ‘X’ Ho$ Obr` {db`Z 
H$m {dÚwV AnKQ>Z {H$`m OmVm h¡Ÿ& Bg à{H«$`m _| Xmo J¡g| ‘Y’ Am¡a ‘Z’ {ZH$bVr h¢Ÿ& 
‘Y’ H¡$WmoS> na {ZH$bVr h¡ Am¡a ‘Z’ Omo {H$ EoZmoS> na {ZH$bVr h¡, ewîH$ ~wPo hþE MyZo go 
A{^{H«$`m H$aHo$ H$moB© `m¡{JH$ ‘B’ ~ZmVr h¡Ÿ& X, Y, Z Am¡a B Ho$ Zm_ {b{IEŸ& 2 

22.  (A) _mZd _pñVîH$ Ho$ Cg ^mJ H$m Zm_ {b{IE Omo ZrMo {XE JE H$m`m] Ho$ {bE CÎmaXm`r h¡Ÿ… 2 

(i) emar[aH$ g§pñW{V Am¡a g§VwbZ ~ZmE aIZm 

(ii) öX` H$m Y‹S>H$Zm 

(iii) gmoMZm 

(iv) aº$Mmn 

AWdm 

  (B) {H$gr nmXn _| Am°pŠgZ H$m g§íbofU H$hm± hmoVm h¡Ÿ? nmXn H$m H$m¡Zgm ^mJ {ZåZ{b{IV 
H$mo Xem©Vm h¡ … 2 

(i) YZmË_H$ àH$memZwdV©Z 

(ii) G$UmË_H$ JwéËdmZwdV©Z 

(iii) YZmË_H$ ObmZwdV©Z 

23.  _mZdm| H$s CËgO©Z {H«$`m go g§~§{YV ZrMo {XE JE àË`oH$ ^mJ H$m {d{eï> H$m`© {b{IE … 2 

(i) d¥ŠH$ Y_Zr 

(ii) _yÌ_mJ© 

(iii) ½bm°_oê$bg (Ho${eH$m-JwÀN>) 

(iv) d¥ŠH$mUw H$m Z{bH$mH$ma ^mJ 

24.  Xmo hao nm¡Ym| H$mo Am°ŠgrOZ a{hV nmÌm| _| ~ÝX H$aHo$ EH$ H$mo gỳ © Ho$ àH$me _| VWm Xygao H$mo 

A§Yoao _| aIm J`m h¡Ÿ& àojU H$aZo na `h nm`m J`m {H$ A§Yoao _| aIm J`m nm¡Ym A{YH$ g_` 
VH$ Or{dV Zht ah gH$mŸ& Bg àojU Ho$ {bE H$maU {b{IEŸ& 2 
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 SECTION – B 

 (Very Short Answer Questions) 

21. (A) A student took a small amount of copper oxide in a conical flask and 

added dilute hydrochloric acid to it with constant stirring. He 

observed a change in colour of the solution. 2 

(i) Write the name of the compound formed and its colour. 

(ii) Write a balanced chemical equation for the reaction involved. 

OR 

 (B) The industrial process used for the manufacture of caustic soda 

involves electrolysis of an aqueous solution of compound ‘X’. In this 

process, two gases ‘Y’ and ‘Z’ are liberated. ‘Y’ is liberated at 

cathode and ‘Z’, which is liberated at anode, on treatment with dry 

slaked lime forms a compound ‘B’. Name X, Y, Z and B. 2 

22. (A) Name the part of brain which is responsible for the following  

actions : 2 

(i) Maintaining posture and balance 

(ii) Beating of heart 

(iii) Thinking 

(iv) Blood pressure 

OR 

 (B) Where are auxins synthesized in a plant ? Which organ of the plant 

shows : 2 

(i) Positive phototropism 

(ii) Negative geotropism 

(iii) Positive hydrotropism 

23. Write one specific function each of the following organs in relation with 

excretion in human beings : 2 

(i) Renal Artery 

(ii) Urethra 

(iii) Glomerulus 

(iv) Tubular part of nephron 

24. Two green plants are kept separately in oxygen free containers, one in the 

dark and other in sunlight. It was observed that plant kept in dark could not 

survive longer. Give reason for this observation. 2 
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25. (A) ZrMo {XE JE AmaoI H$m àojU H$aHo$ {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE … 2 

 

 

 

 

 

(i) ZoÌ Ho$ Ñ{ï>Xmof H$mo nhMm{ZEŸ& 
(ii) Bg Xmof Ho$ Xmo H$maUm| H$s gyMr ~ZmBEŸ& 
(iii) Bg Ñ{ï>Xmof Ho$ g§emoYZ Ho$ {bE Cn`moJ {H$E OmZo dmbo b|g Ho$ àH$ma H$m Zm_ 

{b{IEŸ& 
AWdm 

 (B) n¥Ïdr go àojU H$aZo na ñdÀN> AmH$me H$m a§J Zrbm Ñ{ï>JmoMa hmoVm h¡ naÝVw A§V[aj _| 
`h H$mbm {XImB© XoVm h¡Ÿ& Š`m| ? 2 

26. H$B© nr‹S>H$Zm{e`m| Ho$ à`moJ H$aZo go Z{X`m| Am¡a Vmbm~m| _| nr‹S>H$Zm{e`m| Ho$ Am{YŠ` H$m 
g§M`Z hmoZm AË`{YH$ qMVm H$m {df` h¡Ÿ& Bg H$WZ H$s nw{ï> H$s{OEŸ& 2 

 IÊS > - J 
 (bKw-CÎmar` àíZ) 
27. (i) Ob H$m {dÚwV AnKQ>Z H$aVo g_` {dÚwV Ymam àdm{hV H$aZo go nyd© Ob _| {H$gr Aåb 

H$s Hw$N> ~y§X| {_bm`r OmVr h¢Ÿ& Š`m| ? H¡$WmoS> Am¡a EoZmoS> na _wº$ hmoZo dmbr J¡gm| Ho$ Zm_ 
{b{IEŸ& H¡$WmoS> na g§{MV J¡g Ho$ Am`VZ Am¡a EoZmoS> na g§{MV J¡g Ho$ Am`VZ Ho$ ~rM 
g§~§Y {b{IEŸ& 

 (ii) Cg g_` Amn Š`m àojU H$aVo h¢ O~ {gëda ŠbmoamBS> H$mo gỳ © Ho$ àH$me _| CX^m{gV 
{H$`m OmVm h¡Ÿ? hmoZo dmbr A{^{H«$`m Ho$ àH$ma H$m Zm_ {b{IEŸ& 

28. (i) {H$gr à~b gm§Ð Aåb H$mo VZwH¥$V H$aZo H$m H$moB© {ZamnX T>§J gwPmBEŸ& 

 (ii) gmo{S>`_ hmBS´>m°ŠgmBS> _| gëâ`y[aH$ Aåb {_bmZo na ~ZZo dmbo bdU H$m Zm_ Am¡a 
CgH$m pH {b{IEŸ& 

 (iii) ewîH$ HCl J¡g ewîH$ Zrbo {bQ>_g nÌ Ho$ a§J H$mo n[ad{V©V Zht H$aVr h¡Ÿ& Š`m| ? 

29. (A) (i) n¡am_r{e`_ AnZm ^moOZ {H$g àH$ma àmá H$aVm h¡ ? 

  (ii) h_mao nmMZ V§Ì _| {ZåZ{b{IV _| go àË`oH$ H$s ŷ{_H$m {b{IE …  

(a) hmBS´>moŠbmo[aH$ Aåb (b) {Q´>pßgZ 

(c) Am_me` H$s noer` {^{Îm`m± (d) bmbm ag (bma) 
AWdm 

3 

3 

3 
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25. (A) Observe the following diagram and answer the questions following  

it : 2 

 

 

 

 

 

(i) Identify the defect of vision shown. 

(ii) List its two causes. 

(iii) Name the type of lens used for the correction of this defect. 

OR 

 (B) The colour of clear sky from the earth appears blue but from the 

space it appears black. Why ? 2 

26. Use of several pesticides which results in excessive accumulation of 

pesticides in rivers or ponds, is a matter of deep concern. Justify this 

statement. 2 

 SECTION – C 

 (Short Answer Questions) 

27. (i) While electrolysing water before passing the current some drops of 

an acid are added. Why ? Name the gases liberated at cathode and 

anode. Write the relationship between the volume of gas collected at 

anode and the volume of gas collected at cathode. 

 (ii) What is observed when silver chloride is exposed to sunlight ? Give 

the type of reaction involved. 

28. (i) Suggest a safe procedure of diluting a strong concentrated acid. 

 (ii) Name the salt formed when sulphuric acid is added to sodium 

hydroxide and write its pH. 

 (iii) Dry HCl gas does not change the colour of dry blue litmus paper. 

Why ? 

29. (A) (i) How does Paramecium obtain its food ? 

  (ii) List the role of each of the following in our digestive system : 

(a) Hydrochloric acid (b) Trypsin 

(c) Muscular walls of stomach (d) Salivary amylase  

OR 

3 

3 

3 
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 (B) (i) Xmoham n[ag§MaU {H$go H$hVo h¢ ? 

  (ii) öX` Ho$ Xm{hZo ^mJ Am¡a ~mE§ ^mJ H$m n¥WŠH$Z Š`m| Cn`moJr h¡ ? `h n{j`m| Am¡a 
ñVZnm{``m| H$s {H$g àH$ma ghm`Vm H$aVm h¡ ? 

30. (A) {H$gr Angmar Xn©U Ho$ g§X ©̂ _| ZrMo {XE JE nXm| H$s n[a^mfm {b{IE … 

(i) _w»` \$moH$g 

(ii) \$moH$g Xyar 

AnZo CÎma Ho$ Ñï>mÝV Ho$ {bE Zm_m§{H$V {H$aU AmaoI It{MEŸ&  

AWdm 

 (B) 10 cm D±$Mm H$moB© {~å~ 15 cm \$moH$g Xyar Ho$ {H$gr A{^gmar b|g go 25 cm Xyar na 
pñWV h¡Ÿ& à{V{~å~-Xyar Am¡a à{V{~å~ H$s D±$MmB© n[aH${bV H$s{OEŸ& 3 

31. {H$gr b|g H$s j_Vm +4D h¡Ÿ& Bg b|g H$s \$moH$g Xyar kmV H$s{OEŸ& H$moB© {~å~ Bg b|g Ho$ 
àH$m{eH$ {~ÝXw go 50 cm H$s Xyar na pñWV h¡Ÿ& b|g Ûmam ~ZZo dmbo à{V{~å~ H$s àH¥${V Am¡a 
AmdY©Z H$m CëboI H$s{OE VWm AnZo CÎma H$s nw{ï> Ho$ {bE {H$aU AmaoI ^r It{MEŸ& 3 

32. (A) (i) àË`mdVu Ymam (A.C.) H$mo {Xï> Ymam (D.C.) H$s VwbZm _| {dÚwV e{º$ Ho$ gwXya 
ñWmZm| na àofU Ho$ {bE A{YH$ bm^H$mar Š`m| _mZm OmVm h¡ ? 

  (ii) Kaoby Amny{V© Ho$ {bE Cn`moJ hmoZo dmbr Bg àH$ma H$s Ymam ewîH$ gobm| AWdm 
~¡Q>[a`m| go àmá Ymam go {H$g àH$ma {^Þ hmoVr h¡Ÿ? 

  (iii) {dÚwV â`yO {H$g àH$ma {dÚwV n[anW Am¡a {dÚwV gm{YÌm| H$mo bKwnWZ AWdm 
A{V^maU Ho$ H$maU hmoZo dmbr g§^m{dV j{V go ~MmVm h¡Ÿ?  

AWdm 

 (B) Xem©̀ r J`r Ymamdmhr n[aZm{bH$m Ho$ Mwå~H$s` joÌ H$mo Amao{IV H$s{OE Am¡a H$maU 
g{hV ì`m»`m H$s{OE {H$ VrZ {~ÝXwAm| A, B Am¡a C _| {H$g {~ÝXw na joÌ H$s Vrd«Vm 
A{YH$V_ Am¡a {H$g na {ZåZV_ h¡Ÿ? 3 

 

  

 

3 

3 

3 
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(B) (i) What is double circulation ? 

 (ii) Why is the separation of the right side and the left side of the 

heart useful ? How does it help birds and mammals ?  

30. (A) Define the following terms in the context of a diverging mirror : 3 

(i) Principal focus 

(ii) Focal length 

 Draw a labelled ray diagram to illustrate your answer. 

OR 

(B) An object of height 10 cm is placed 25 cm away from the optical 

centre of a converging lens of focal length 15 cm. Calculate the 

image-distance and height of the image formed.  3 

31. The power of a lens is +4D. Find the focal length of this lens. An object is 
placed at a distance of 50 cm from the optical centre of this lens. State the 
nature and magnification of the image formed by the lens and also draw a 
ray diagram to justify your answer. 3 

32. (A) (i) Why is an alternating current (A.C.) considered to be 
advantageous over direct current (D.C.) for the long distance 
transmission of electric power ? 

  (ii) How is the type of current used in household supply different 
from the one given by a battery of dry cells ? 

  (iii) How does an electric fuse prevent the electric circuit and the 
appliances from a possible damage due to short circuiting or 
overloading. 

OR 

 (B) For the current carrying solenoid as shown, draw magnetic field lines 
and give reason to explain that out of the three points A, B and C, at 
which point the field strength is maximum and at which point it is 
minimum ? 3 

 

3 

3 
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33. O¡d {ZåZrH$aUr` Am¡a AO¡d {ZåZrH$aUr` An{eï>m| Ho$ ~rM EH$ AÝVa {b{IEŸ& BZ_| go 
àË`oH$ àH$ma Ho$ An{eï>m| Ho$ g§{MV hmoZo na n`m©daU na hmoZo dmbo Xmo-Xmo A{Yà^mdm| H$s gyMr 
~ZmBEŸ& 3 

IÊS > - K 
(XrK©-CÎmar` àíZ) 

34. (A) (i) ZrMo {XE JE `m¡{JH$m| H$s g§aMZm Amao{IV H$s{OE … 

(a) ã`yQ>oZm°BH$ Aåb (b) ŠbmoamonoÝQ>oZ 
  (ii) ZrMo Xr J`r Xmo g§aMZmE§ (i) Am¡a (ii) EH$-Xygao go {H$g àH$ma g§~§{YV h¢ ? 

AnZo CÎma H$s nw{ï> Ho$ {bE H$maU Xr{OEŸ& 

 

 

 

 

 

   Cnamoº$ àH$aU Ho$ {bE EH$ AÝ` g§^m{dV g§aMZm It{MEŸ& 

  (iii) g§V¥á Am¡a Ag§V¥á H$m~©Z `m¡{JH$m| Ho$ ~rM BZHo$ gm_mÝ` gyÌm| Ho$ AmYma na 
{d ôXZ H$s{OEŸ& 

AWdm 

 (B) (i) Š`m hmoVm h¡ O~ gmo{S>`_ Ho$ N>moQ>o Qw>H$‹S>o H$mo EWZm°b _| S>mbm OmVm h¡Ÿ? A{^{H«$`m 
H$m g_rH$aU {b{IEŸ& 

  (ii) ½b¡eb Eogr{Q>H$ Aåb H$mo `h Zm_ Š`m| {X`m J`m h¡Ÿ? 

  (iii) Š`m hmoVm h¡ O~ EWZm°b H$mo gm§Ð H2SO4 H$s CnpñW{V _| 443 K na J_© {H$`m 
OmVm h¡Ÿ? Bg_| gm§Ð H2SO4 H$s ŷ{_H$m H$m C„oI H$s{OEŸ& 

  (iv) gm~wZrH$aU Xem©Zo Ho$ {bE g_rH$aU {b{IEŸ& 

35. (i) hmBS´>m _| àojU H$s OmZo dmbr Ab¢{JH$ OZZ H$s Xmo {dYmAm| Ho$ Zm_ {b{IE Am¡a CZH$s 
ì`m»`m H$s{OEŸ&  

 (ii) H$m{`H$ àdY©Z {H$go H$hVo h¢Ÿ? Bg VH$ZrH$ H$mo Cn`moJ {H$E OmZo Ho$ Xmo bm^m| H$s gyMr 
~ZmBEŸ&  

36. (i) {H$gr MmbH$ Ho$ {gam| Ho$ ~rM {d^dmÝVa Am¡a Cggo àdm{hV Ymam nañna {H$g àH$ma 
g§~§{YV h¢ ?  

  Bg g§~§Y H$mo gË`m{nV H$aZo Ho$ {bE {dÚwV n[anW AmaoI It{MEŸ& 

5 

5 

5 

5 
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33. Write one difference between biodegradable and non-biodegradable 

wastes. List two impacts of each type of the accumulated waste on 

environment if not disposed off properly. 3 

 SECTION – D 
 (Long Answer Questions) 
34. (A) (i) Draw the structure of the following compounds : 

(a) Butanoic acid (b) Chloropentane  

  (ii) How are structure (i) and structure (ii) given below related to 

one another ? Give reason to justify your answer. 

 

 

 

 

 

   Draw one more possible structure for above case.  

  (iii) Differentiate between saturated and unsaturated carbon 

compounds on the basis of their general formula. 

OR 

 (B) (i) What happens when a small piece of sodium is dropped in 

ethanol ? Write the equation for this reaction. 

  (ii) Why is glacial acetic acid called so ? 

  (iii) What happens when ethanol is heated at 443 K in the presence 

of conc. H2SO4 ? Write the role of conc. H2SO4 in this case. 

  (iv) Write an equation showing saponification. 

35. (i) Name and explain the two modes of asexual reproduction observed in 

hydra. 

 (ii) What is vegetative propagation ? List two advantages of using this 

technique. 

36. (i) How is electric current related to the potential difference across the 

terminals of a conductor ? 

  Draw a labelled circuit diagram to verify this relationship. 

5 

5 

5 

5 
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 (ii) A_rQ>a H$m à{VamoY {ZåZ Š`m| hmoZm Mm{hE ? 

 (iii) Xmo à{VamoYH$m| Ho$ loUr Am¡a nmíd© g§̀ moOZm| Ho$ {bE Xmo V - I J«m\$ A Am¡a B AmaoI _| 
Xem©E JE h¢Ÿ& H$maU g{hV C„oI H$s{OE {H$ BZ_| go H$m¡Zgm J«m\$ à{VamoYH$m| Ho$ (a) 
loUr, (b) nmíd© g§̀ moOZ H$mo Xem©Vm h¡Ÿ& 

 

 

 

 

 

 

 IÊS > - ‹S > 
 (òmoV Am Ym[aV/àH$aU AmYm[aV àíZ) 
37. Hw$N> Am`Zr `m¡{JH$m| Ho$ JbZm§H$ Am¡a ŠdWZm§H$ ZrMo {XE JE h¢ … 4 

`m¡{JH$ JbZm§H$ (K) ŠdWZm§H$ (K) 

NaCl 

LiCl 

CaCl2 

CaO 

MgCl2 

1074 

887 

1045 

2850 

981 

1686 

1600 

1900 

3120 

1685 

 BZ `m¡{JH$m| H$mo Am`{ZH$ `m¡{JH$ H$hZo H$m H$maU `h h¡ {H$ `o YmVw go AYmVw _| BboŠQ´>m°Zm| Ho$ 
ñWmZmÝVaU Ûmam ~ZVo h¢Ÿ& Bg àH$ma Ho$ `m¡{JH$m| _| BboŠQ´>m°Zm| Ho$ ñWmZmÝVaU H$mo, BZ `m¡{JH$m| Ho$ 
~ZZo _| ^mJ boZo dmbo VÎdm| Ho$ BboŠQ´>m°Z-{dÝ`mg {Z`§{ÌV H$aVo h¢Ÿ& àË`oH$ VÎd H$s AnZr 
{ZH$Q>V_ CËH¥$ï> J¡g Ho$ nyU© ê$n go ^ao g§̀ moOH$Vm H$moe AWdm ñWm`r Aï>H$ H$mo àmá H$aZo H$s 
àd¥{Îm hmoVr h¡Ÿ& 

 (i) _¡¾r{e`_ ŠbmoamBS> Ho$ ~ZZo _| hmoZo dmbo BboŠQ´>m°Z-ñWmZmÝVaU H$mo Xem©BEŸ& 1 

 (ii) Cƒ JbZm§H$ Am¡a Cƒ ŠdWZm§H$ Ho$ A{V[aº$ Am`Zr `m¡{JH$m| Ho$ {H$Ýht AÝ` Xmo JwUY_m] 
H$s gyMr ~ZmBEŸ& 1 



 

31/4/1  [P.T.O. 19

 (ii) Why should an ammeter have low resistance ? 

 (iii) Two V - I graphs A and B for series and parallel combinations of two 

resistors are as shown. Giving reason state which graph shows  

(a) series, (b) parallel combination of the resistors. 

 

 

 

 

 

 

 

 SECTION – E 

 (Source Based/Case Based Questions) 

37. The melting points and boiling points of some ionic compounds are given 

below : 4 

Compound Melting Point (K) Boiling Point (K) 

NaCl 

LiCl 

CaCl2 

CaO 

MgCl2 

1074 

887 

1045 

2850 

981 

1686 

1600 

1900 

3120 

1685 

 These compounds are termed ionic because they are formed by the transfer 

of electrons from a metal to a non-metal. The electron transfer in such 

compounds is controlled by the electronic configuration of the elements 

involved. Every element tends to attain a completely filled valence shell of 

its nearest noble gas or a stable octet.  

 (i) Show the electron transfer in the formation of magnesium chloride. 1  

 (ii) List two properties of ionic compounds other than their high melting 

and boiling points. 1 
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 (iii) (A) {H$gr Am`Zr `m¡{JH$ O¡go gmo{S>`_ ŠbmoamBS> _| gmo{S>`_ na_mUw {H$g àH$ma ñWm`r 
{dÝ`mg àmá H$aVm h¡Ÿ? 2 

AWdm 

 (iii) (B) H$maU Xr{OE … 2 

(i) Am`Zr `m¡{JH$ R>mog AdñWm _| {dÚwV MmbZ Š`m| Zht H$aVo h¢ ?  

(ii) gmo{S>`_ ŠbmoamBS> Ho$ Obr` {db`Z _| Ymam àdm{hV H$aZo na H¡$WmoS> na 
Š`m $hmoVm h¡Ÿ? 

38. OZZ à{H«$`m H$m gdm©{YH$ àË`j {ZîH$f© g§V{V _| ì`{ï>`m| H$m g_ê$n {S>OmBZ hmoZm h¡, naÝVw 

b¢{JH$ OZZ _| do VÏ`V… g_ê$n Zht hmoVo h¢Ÿ& BZ_| g_ê$nVmE§ Am¡a {d{^ÞVmE§ gwñnï> hmoVr h¢Ÿ& 
d§emJ{V Ho$ {Z`_ Cg à{H«$`m H$mo {ZYm©[aV H$aVo h¢ {OgHo$ Ûmam bjU Am¡a {deofVmE§ 
{dídgZr`Vm go d§emZwJV hmoVr h¢Ÿ& d§emJ{V Ho$ {Z`_m| Ho$ AÜ``Z Ho$ {bE H$B© à`moJ {H$E JE 
h¢Ÿ& 

(i) b¢{JH$ OZZ _| _mZdm| H$s g§V{V AnZo OZH$m| H$s `WmVÏ` à{VH¥${V Š`m| Zht hmoVr h¡ ? 1 

(ii) nm¡Ym| _| d§emJ{V Ho$ à`moJm| H$mo H$aVo g_` F1 Am¡a F2 g§V{V Ho$ nm¡Ym| _| Š`m AÝVa 
nm`m OmVm h¡ ? 1 

(iii) (A) h_ `h Š`m| H$hVo h¢ {H$ {H$gr ñnrerµO Ho$ ApñVËd H$s d¥{Õ Ho$ {bE {d{^ÞVm 
Amdí`H$ h¡ ? 2 

AWdm 

(iii) (B) _|S>b Ho$ Xmo {dn`m©gr bjUm| dmbo Omo‹S>m| Ho$ nm¡Ym| Ho$ ~rM g§H$aU H$m AÜ``Z 
H$s{OEŸ& 2 

  RRYY × rryy 

  Jmob nrbo  PwauXma hao 

 CÝhmo§Zo F2 g§V{V Ho$ nm¡Ym| _| Mma àH$ma Ho$ g§̀ moOZm| H$m àojU {H$`mŸ& `o Mma Z ò 
g§̀ moOZ Š`m Wo ? F2 g§V{V _| dh ZE g§̀ moOZ, Omo OZH$ nm¡Ym| _| CnpñWV Zht 
Wo, Š`m| Ñ{ï>JmoMa hþEŸ? 

4 
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(iii) (A) While forming an ionic compound say sodium chloride 

how does sodium atom attain its stable configuration ? 2 

OR 

(iii) (B) Give reasons : 2 

(i) Why do ionic compounds in the solid state not 

conduct electricity ? 

(ii) What happens at the cathode when electricity is 

passed through an aqueous solution of sodium 

chloride ? 

38. The most obvious outcome of the reproductive process is the generation of 

individuals of similar design, but in sexual reproduction they may not be 

exactly alike. The resemblances as well as differences are marked. The 

rules of heredity determine the process by which traits and characteristics 

are reliably inherited. Many experiments have been done to study the rules 

of inheritance. 

(i) Why an offspring of human being is not a true copy of his parents in 

sexual reproduction ? 1 

(ii) While performing experiments on inheritance in plants, what is the 

difference between F1 and F2 generation ? 1 

(iii) (A) Why do we say that variations are useful for the survival of a 

species over time ? 2 

OR 

(iii) (B) Study Mendel’s cross between two plants with a pair of 

contrasting characters.  2 

  RRYY × rryy 

  Round Yellow  Wrinkled Green 

 He observed 4 types of combinations in F2 generation. Which 

of these were new combinations ? Why do new features which 

are not present in the parents, appear in F2 generation ? 

4 
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39. {H$gr _mÜ`_ H$s àH$me H$mo And{V©V H$aZo H$s j_Vm H$mo CgHo$ àH$m{eH$ KZËd Ho$ nXm| _| 

ì`º$ {H$`m OmVm h¡Ÿ& àH$m{eH$ KZËd H$m EH$ {ZpíMV g§n¥º$mW© h¡Ÿ& `h Ðì`_mZ KZËd Ho$ 
g_mZ Zht h¡Ÿ& Xmo _mÜ`_m| H$s VwbZm H$aZo na {Og nXmW© H$m AndV©Zm§H$ A{YH$ hmoVm h¡ dh 
Xygao nXmW© H$s VwbZm _| A{YH$ àH$m{eH$ gKZ _mÜ`_ H$hm OmVm h¡Ÿ& AÝ` _mÜ`_ {OgH$m 
AndV©Zm§H$ {ZåZ h¡, àH$m{eH$ {dab hmoVm h¡Ÿ& {H$gr {XE JE _mÜ`_ _| àH$me H$s Mmb CgHo$ 
àH$m{eH$ KZËd Ho$ ì`wËH«$_mZwnmVr hmoVr h¡Ÿ& 

(i) `{X hrao H$m {Zdm©V Ho$ gmnoj AndV©Zm§H$ 2.42 h¡, Vmo hrao _| àH$me H$s Mmb {ZYm©[aV 
H$s{OEŸ& {Zdm©V _| àH$me H$s Mmb 3×108 m/s h¡Ÿ& 1 

(ii) H$m±M, Ob Am¡a H$m~©Z S>mBgë\$mBS> Ho$ AndV©Zm§H$ H«$_e… 1.5, 1.33 Am¡a 1.62 h¢Ÿ& 

`{X H$moB© àH$me {H$aU BZ _mÜ`_m| na g_mZ H$moU (_mZ br{OE θ) na AmnVZ H$aVr 
h¡, Vmo BZ _mÜ`_m| _| AndV©Z H$moUm| H$mo Amamohr (~‹T>Vo) H«$_ _| {b{IEŸ& 1 

(iii) (A) H$m±M _| àH$me H$s Mmb 2×108 m/s Am¡a Ob _| àH$me H$s Mmb  
2.25×10

8
 m/s h¡Ÿ& 2 

(a) BZ_| go H$m¡Z A{YH$ àH$m{eH$ gKZ h¡ Am¡a Š`m| ? 

(b) {H$gr Ob go ^ao _moQ>o H$m±M Ho$ nmÌ Ho$ H$m±M-Ob AÝVamn¥ð> na H$moB© 
àH$me {H$aU A{^bå~dV² AmnVZ H$aVr h¡Ÿ& Bg {H$aU Ho$ H$m±M _| àdoe 
H$aZo Ho$ níMmV² nW H$m Š`m hmoJm ? H$maU Xr{OEŸ& 

AWdm 

(iii) (B) Ob Am¡a H$m±M Ho$ {Zanoj AndV©Zm§H$ H«$_e… 4/3 Am¡a 3/2 h¢Ÿ& `{X H$m±M _| 
àH$me H$s Mmb 2×108 m/s h¡, Vmo (i) {Zdm©V Am¡a (ii) Ob _| àH$me H$s 
Mmb kmV H$s{OEŸ& 2 

4 
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39. The ability of a medium to refract light is expressed in terms of its optical 

density. Optical density has a definite connotation. It is not the same as 

mass density. On comparing two media, the one with the large refractive 

index is optically denser medium than the other. The other medium with a 

lower refractive index is optically rarer. Also the speed of light through a 

given medium is inversely proportional to its optical density. 

(i) Determine the speed of light in diamond if the refractive index of 

diamond with respect to vacuum is 2.42. Speed of light in vacuum is 

3×10
8
 m/s. 1 

(ii) Refractive indices of glass, water and carbon disulphide are 1.5, 1.33 

and 1.62 respectively. If a ray of light is incident in these media at 

the same angle (say θ), then write the increasing order of the angle 

of refraction in these media. 1 

(iii) (A) The speed of light in glass is 2×10
8
 m/s and in water is  

2.25×10
8
 m/s. 2 

(a) Which one of the two is optically denser and why ? 

(b) A ray of light is incident normally at the water-glass 

interface when it enters a thick glass container filled with 

water. What will happen to the path of the ray after 

entering the glass ? Give reason. 

OR 

(iii) (B) The absolute refractive indices of water and glass are 4/3 and 

3/2 respectively. If the speed of light in glass is 2×10
8
 m/s, 

find the speed of light in (i) vacuum and (ii) water.  2 

 

 

 

 

4 



  

31/4/1   24

 



086_31/4/1_विज्ञान # पषृ्ठ-1 

 
 

Strictly Confidential: (For Internal and Restricted use only) 
Secondary School Examination, 2023 

Marking Scheme – Science (SUBJECT CODE -086) HINDI 
(PAPER CODE –31/4/1) 

General Instructions: - 
 

1. You are aware that evaluation is the most important process in the actual and correct 
assessment of the candidates. A small mistake in evaluation may lead to serious 
problems which may affect the future of the candidates, education system and 
teaching profession. To avoid mistakes, it is requested that before starting 
evaluation, you must read and understand the spot evaluation guidelines carefully. 
 

2. “Evaluation policy is a confidential policy as it is related to the confidentiality 
of the examinations conducted, Evaluation done and several other aspects. Its’ 
leakage to public in any manner could lead to derailment of the examination 
system and affect the life and future of millions of candidates. Sharing this 
policy/document to anyone, publishing in any magazine and printing in News 
Paper/Website etc may invite action under various rules of the Board and IPC.” 

 
3. Evaluation is to be done as per instructions provided in the Marking Scheme. It 

should not be done according to one’s own interpretation or any other consideration. 
Marking Scheme should be strictly adhered to and religiously followed. However, 
while evaluating, answers which are based on latest information or knowledge 
and/or are innovative, they may be assessed for their correctness otherwise 
and due marks be awarded to them. In class-X, while evaluating two 
competency-based questions, please try to understand given answer and even 
if reply is not from marking scheme but correct competency is enumerated by 
the candidate, due marks should be awarded.  

 
4. The Marking scheme carries only suggested value points for the answers. These are 

in the nature of Guidelines only and do not constitute the complete answer. The 

students can have their own expression and if the expression is correct, the due 

marks should be awarded accordingly. 

5. The Head-Examiner must go through the first five answer books evaluated by each 
evaluator on the first day, to ensure that evaluation has been carried out as per the 
instructions given in the Marking Scheme. If there is any variation, the same should 
be zero after delibration and discussion. The remaining answer books meant for 
evaluation shall be given only after ensuring that there is no significant variation in 
the marking of individual evaluators. 
 

6. Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” 

be marked. Evaluators will not put right (✓)while evaluating which gives an 

impression that answer is correct and no marks are awarded. This is most common 
mistake which evaluators are committing. 

 
7. If a question has parts, please award marks on the right-hand side for each part. 

Marks awarded for different parts of the question should then be totaled up and 
written in the left-hand margin and encircled. This may be followed strictly. 

 
8. If a question does not have any parts, marks must be awarded in the left-hand 

margin and encircled. This may also be followed strictly. 
 



086_31/4/1_विज्ञान # पषृ्ठ-2 

 
 

9. If a student has attempted an extra question, answer of the question deserving more 
marks should be retained and the other answer scored out with a note “Extra 
Question”. 

 
10. No marks to be deducted for the cumulative effect of an error. It should be penalized 

only once. 
 

11. A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question 
Paper) has to be used. Please do not hesitate to award full marks if the answer 
deserves it. 
 

12. Every examiner has to necessarily do evaluation work for full working hours i.e., 8 
hours every day and evaluate 20 answer books per day in main subjects and 25 
answer books per day in other subjects (Details are given in Spot Guidelines).This is 
in view of the reduced syllabus and number of questions in question paper. 
 

13. Ensure that you do not make the following common types of errors committed by the 
Examiner in the past:- 

• Leaving answer or part thereof unassessed in an answer book. 

• Giving more marks for an answer than assigned to it. 

• Wrong totaling of marks awarded on a reply. 

• Wrong transfer of marks from the inside pages of the answer book to the title 
page. 

• Wrong question wise totaling on the title page. 

• Wrong totaling of marks of the two columns on the title page. 

• Wrong grand total. 

• Marks in words and figures not tallying / not same. 

• Wrong transfer of marks from the answer book to online award list. 

• Answers marked as correct, but marks not awarded. (Ensure that the right tick 
mark is correctly and clearly indicated. It should merely be a line. Same is with 
the X for incorrect answer.) 

• Half or a part of answer marked correct and the rest as wrong, but no marks 
awarded.  

 

14. While evaluating the answer books if the answer is found to be totally incorrect, it 
should be marked as cross (X) and awarded zero (0)Marks. 
  

15. Any unassessed portion, non-carrying over of marks to the title page, or totaling error 
detected by the candidate shall damage the prestige of all the personnel engaged in 
the evaluation work as also of the Board. Hence, in order to uphold the prestige of all 
concerned, it is again reiterated that the instructions be followed meticulously and 
judiciously. 
 

16. The Examiners should acquaint themselves with the guidelines given in the 
“Guidelines for spot Evaluation” before starting the actual evaluation. Examiners 
should acquaint themselves with the guidelines given in the Guidelines for spot 
Evaluation before starting the actual evaluation. 
 

17. Every Examiner shall also ensure that all the answers are evaluated, marks carried 
over to the title page, correctly totaled and written in figures and words. 
 

18. The candidates are entitled to obtain photocopy of the Answer Book on request on 
payment of the prescribed processing fee. All Examiners/Additional Head 
Examiners/Head Examiners are once again reminded that they must ensure that 
evaluation is carried out strictly as per value points for each answer as given in the 
Marking Scheme. 
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अंकन योजना (कक्षा - X) 

माध्यममक मिद्यालय परीक्षा, 2023 

मिज्ञान (मिषय कोड -086) 

[प्रसन पत्र कोड :31/4/1 

अमिकतम अंक:80 

प्रश्नसं

. 
अपेमक्षतउत्तर  / मुख्य म ंदु  

अंक कुलअं

क 

1 खण्ड – क   

1. (c)  1 1 

2. (b) 1 1 

3. (b) 1 1 

4. (d) 1 1 

5. (b) 1 1 

6. (c)  1 1 

7. (c) 1 1 

8. (b) 1 1 

9. (b) 1 1 

10. (a) 1 1 

11. (a) 1 1 

12. (d) 1 1 

13. (b) 1 1 

14. (c) 1 1 

15. (b) 1 1 

16. (d)  1 1 

17. (a) 1 1 

18. (d) 1 1 

19. (c) 1 1 

20. (b) 1 1 

 खण्ड- ख    

21 (A) (i) • कॉपर IIक्लोराइड /कॉपर क्लोराइड /क्यवुिक क्लोराइड /CuCl2  

      •  रंग : नीला -हरा    

      (ii) CuO + 2HCl →CuCl2 + H2O  

अथिा  

(B)  X :सोवडयम क्लोराइड/ NaCl  

 Y :हाइड्रोजन / H2   

½, 

½ 

1 

 
 

½ 

½ 
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 Z :क्लोरीन / Cl2   

 B :विरंजक चरू्ण /CaOCl2  

½ 

½ 

 

2 

22 (A) (i) अनमुवतिष्क /पश्चमवतिष्क  

      (ii)मेडुला  /पश्चमवतिष्क 

      (iii) अग्र मवतिष्क / िममवतिष्क 

      (iv)मेडुला/ पश्चमवतिष्क अग्रभग  

अथिा 

(B) िारोह के अग्रभाग /जड़ का  अग्रभाग  

      (i)  िारोह/िना  

      (ii) िारोह/िना 

     (iii) जड़   

½ 

½ 

½ 

½ 

 

½ 

½ 

½ 

½ 

 

 

 

 

 

 

 

 

2 

23 (i) N2िर्जयण पदार्ण यकु्त रुविर को िकृ्क िक लाना  

(ii) मतू्र dh वनकासी    

(iii)रुविर को छानना    

(iv) p;ukRed पदार्ों का पनुरिशोषर्  

½ 

½ 

½ 

½ 

 

 

 

2 

24 •अंिेरे में रखा पौिा िकाश la'ysषर् नहीं कर ikrk ह ैऔर ऑक्सीजन की अनपुवतर्वि 

में िह 'olu नहीं कर सकिा ह ै। 

•ysfdu िकाश में रखा पौिा िकाश la'ysषर् )kjk करCO2को ऑक्सीजन में 

पररिविणि करिा ह ैवजसे िह 'olu में उपयोग कर ldrk gS । 

 

1 

 

1 

 

 

 

2 

25 (A) (i) वनकट - दृवि दोष /fudV–f"Vrk  

      (ii) •अवभनेत्र लेंस की िक्रिा का अत्यविक होना   

    •नेत्र गोलक का लम्बा हो जाना   

     (iii) अििल लेंस/ vilkjh ysal   

अथिा 

(B)   •िायमंुडल में कर्ों का साइज़ दृश्य िकाश की िरंगदैर्धयण की िलुना में छोटा होिा ह ै

इसवलए िे कम िरंगदरै्धयण िाले िकाश का िकीर्णन करिे हैं।i.e.नीला रंग 

        •अंिररक्ष में ,कर्ों की अनपुवतर्वि के कारर् िकाश का िकीर्णन नहीं होिा ह।ै 

          (िायमंुडल  dk u gksuk ) 

½ 

½ 

½ 

½ 

 

 

1 

 

 

1 

 

 

 

 

 

 

 

 

 

2 

26 चूूँवक ये रसायन अजैि fuEuh—r vkSj var esa ifj.kke होिे हैं, ये ित्येक पोषी तिर पर 

उत्तरोत्तर सांविि होिे जािे हैं जैि -आििणन हो जािा ह।ै 

 

2 

 

2 

 खण्ड - ग    

27 (i) • ty की चालकता बढाने के ललए  

   • हाइड्रोजन – कैथोड   -   ऑक्सीजन   -    एनोड  

   • एनोड : कैथोड 

      1 :  2 

½ 

½   

 ½ 
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/ कैथोड पर मुक्त हाइड्रोजन का आयतन एनोड पर मकु्त ऑक्सीजन से दोगुना 
होता है। 

(ii) • सफेद लसल्वर क्लोराइड धूसर हो जाता है। 

      • वियोजन (अपघटन) अवभवक्रया / िकाशीय वियोजन (अपघटन) 

 

½ 
 

 

½ 

½ 

 

 

 

3 

28 (i) अम्ल को सदैव जल में धीरे-धीरे लगातार हहलाते हुए लमलाना चाहहए।  

(ii) सोडडयम सल्फेट/ Na2SO4 

pH = 7  

(iii) HCl आयनीत नह ीं होता है / हाइडरोजन आयन /  ह्य्द्रोननयम आयन की 
अनुपस्थथनत के कारण   

1 

½  

½ 

 

1 

 

 

 

 

3 

29 (A) (i) पश्यन की गनत की सहायता से भोजन एक ववलिथट थथान से  

       ग्रहण कीया  जाता है 

(ii) 

(a) एक अम्ल य माध्यम तैयार करता है जो एींजाइम की क्रिया में सहायक है/  

vUrxZzfgr Hkkstu ds lkFk lw{e thoksa dks lekIr djukA 

जीवों को ननस्रिय करना    

     (b)izksVhuksa का पाचन  

     ( c )   पाचक रसों के साथ भोजन को अच्छी तरह लमलाना / कुमााकुीं चचत गनत 
द्वारा भोजन को आगे की ओर भेजना 

    (d) थटाचा को िका रा में पररवनतात करना  
  

अथिा 

 
(B)  

 (i) प्रत्येक चि में रुचधर दो बार हृदय में जाता है।  

     (ii)• िर र  को उच्च दक्षतापूणा ऑक्सीजन की पूनत ा के ललये रोकना   
         • इस तरह का बँटवारा िर र को उच्च दक्षतापूणा ऑक्सीजन की पूनत ा करता      

     है जो पक्षक्षयों और थतनपानययो की मदद करता है स्जन्हें अपने िर र का 
तापिम बनाए रखने के ललए ननरींतर ऊजाा की आवश्यकता होती है  

 

1 

 

 

½ 

 

 

½ 

½ 

 

½ 

 

 

 
 

 

1 

 

1 
 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

30 (A) 

(i) अपसार  दपाण के मुख्य अक्ष के समानाींतर क्रकरणें दपाण स ेपरावतान के बाद 

मुख्य अक्ष पर एक बब ींद ुसे अपसररत होती हुई प्रतीत होती हैं। इस बब ींद ुको मुख्य 

फोकस कहा जाता है।  

(ii) दपाण के धु्रव तथा मुख्य फोकस के बीच की दरू     

 

1 

 

 

1 
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अथिा 

    (B)
𝟏

𝐯
−  

𝟏

𝐮
=  

𝟏

𝐟
 

 v

1

 = f

1

 + u

1

 
     f=15 cm, u=-25 cm, h=10 cm 
   

     
v

1
 = 

𝟏

𝟏𝟓cm
+ 

𝟏

-25cm
=

𝟐

𝟕𝟓
 = + 

𝟏

𝟑𝟕⋅𝟓
 

 
 v = 37·5 cm  

 प्रनतबबम्ब की ऊीं चाई  = objecttheofheight
u

v
   fcEc dh Å¡pkbZ  

 = 

cm10
cm25-

537




 
 h’= -15 cm 

1 

 

 

½ 

 

 

½ 

 

 

 

1 

 

½ 

 

 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

31 •लेंस की फोकस दरू  , 𝐟(𝐦) =  
𝟏

𝐏
 

P = + 4·0 D 

 f = 
𝟏

+ 4 D
 =  𝟎. 𝟐𝟓 𝐦 = 25 cm 

  

 • वाथतववक और उल्टा  

 • आवधान = -1  

•  

  
[किरणों िी दिशा चिह्नित िह ीं होिे पर आधा अींि घटाएीं] 

  

½ 

 

½ 

 

½ 

½ 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

32 (A) (i) प्रत्यावती धारा को सुदरू थथानों पर बबना अचधक      

       ववद्युत  ऊजाा क्षय के प्रेवित क्रकया जा सकता है।  

        (ii)घरेलू आपूनता - izR;korhZ /kkjk (AC) 

          िुरक सेल की बैटर  – fn"V /kkjk  (DC ) 

   

1 

 

½ 

½ 
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(iii) जब ववद्युत पररपथ में फ्यूज के अनुमताींक(रेहटींग) से अचधक ववद्युत धारा 
प्रवाहहत होती है   rks ;g fi/ky dj ववद्युत पररपथ   dks rksM nsrk gSA 

अथवा  
(B)   

 

 
 
 
 
 

 
(यदि धारा या ि ींबिीय क्षेत्र िी दिशा चिह्नित िह ीं है तो आधा अींि  िाट िें) 

 
 

•बबींद ुA पर अचधकतम  

चुींबकीय क्षेत्र रेखाएीं बहुत पास और घननत हैं/ ifjukfydk esa 'n' Qsjks dh la[;k ds 

dkj.k चुींबकीय क्षेत्र esa वदृ्धि हो जाती है 
•बबींद ुB पर न्यूनतम 

चुींबकीय क्षेत्र रेखाएीं एक दसुरे से काफी दरू हैं 

 

1 

 

 

 

 

 

1 

 

 

 

 

 

½ 

½ 

 

½ 

 ½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

33 • 

जैव ननम्नीकरणीय अजैव ननम्नीकरणीय 

जैव ननम्नीकरणीय वर्जया जैववक 

प्रिम द्वारा अपघहटत हो जाते है । 

अजैव ननम्नीकरणीय जैववक वर्जया 
प्रिम में अपघहटत नह ीं होते है । 

• सींचचत जैव ननम्नीकरणीय अपलिरटों का प्रभाव: 

 (i) बदबू  

 (ii) रोगवाहकों के ललए प्रजनन थथान                     (या िोई अन्य)  

• सींचचत अजैव ननम्नीकरणीय अपलिरटों का प्रभाव : 

 (i) जैव- आवधान  

 (ii) मदृा की उवारता को प्रभाववत करता है।              ( या िोई अन्य)  

 

 

1 

 

 

 

½ 

½ 

 

½ 

½ 

 

 

 

 

 

 

 

 

 

 

3 

 खण्ड - घ    

34 (A) (i) 
 (a)  

 
 (b)   

 

 

 

1 
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(ii) • समावयव 

   •लेक्रकन सींरचना लभन्न है /  इनका अणुसूत्र समान है 

 

 
 
 
 
 
 
 
 

                                                                          (िोई एि ) 

  
(iii) 

सींतपृ्त योचिि असींतपृ्त योचिि 

CnH2n+2 CnH2n and   CnH2n-2 

•H परमाणुओीं की सींख्या C 

परमाणुओीं के दगुने से अचधक होती है  

•H परमाणुओीं की सींख्या C 

परमाणुओीं के दगुने से कम या बराबर 

होती है 

                                                                 (िोई एि ) 

अथवा  
(B)  (i) H2 गैस उत्सस्जात होती है और सोडडयम एथॉक्साइड बनता है। 
              2CH3CH2OH + 2Na → 2CH3CH2ONa + H2  

(समीिरण सींत लित ि होिे पर अींि ि िाटें) 
 

(ii) िुद्ध एथेनॉइ अम्ल का गलनाींक ननम्न(290K) होता है इसललए यह  

 ठींडी जलवायु में सहदायों के दौरान जम जाता है। 

  

(iii) •एथेन बनती है CH3CH2OH 
4SO2H

.concHot
⎯⎯⎯⎯ →⎯ CH2 = CH2 + H2O  

 
         • H2SO4 – ननजाल कारक / एथेनॉल से जल को ननकाल देता है।  

  (iv)CH3COOCH2CH3 ⎯⎯⎯ →⎯
NaOH

 CH3COO-Na+ + CH3CH2OH 

  

 

1 

 

 

 

½ 

½ 

 

 

 

1 

 

 

 

 

 

 

 

 

1 

 

 

 

 
 

½ 

1 

 

 

1 
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एथीन  
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35 (i) हाइड्रा में प्रेक्षक्षत अलैंचगक जनन के दो ववचधए: 

   •म ि िि : एक ववलिरट थथान पर कोलिकाओ के ननयलमत ववभाजन के  

  कारण एक उभार ववकलसत होता है। यह उभार वदृ्चध करता  
हुआ नन्हे जीव में बदल जाता है तथा पूणा ववकलसत होने  

पर, जनक से अलग होकर थवतींत्र जीव बन जाता हैं।   

(b) प िर्जिि: हाइड्रा को कई टुकड़ों में काटने देने पर प्रत्येक टुकड़ा एक पूणा जीव  

            में ववकलसत हो जाता है। 
  

(ii) • पररभािा: जब पौधों के कानयक भाग जैस ेजड़, तना या पत्ती का उपयोग नए 

पौधों को उत्पन्न करने के ललए क्रकया जाता है।  

• 1 इस प्रकार उगाये गए पौधों में बीज द्वारा उगाए पौधों की अपेक्षा पुरप  

एवीं फल कम समय में लगने हैं। 
     2 केला, नारींगी, गुलाब और चमेल  जैस ेपौधों को उगाने के ललए उपयोगी  

है जो बीज उत्पन्न करने की क्षमता खो चुके है। 
         3 उत्पाहदत पौधे आनुवींलिक रूप स ेसभी वविेिताओीं के ललए जनक पौधे के  

समान हैं।                             (िोई िो) 
 

 

 

½,1 

 

 

 

 

½,1 

 

 

1 

 

 

 

 

 

½,½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

36 (i)  एक चालक से प्रवाहहत धारा , ववभवान्तर के  

समानुपानतक होती है।/ VαI / IαV .  

 

 
 
 
 

 

 
 
 
 

(िोई एि) 

  

(ii) चँूक्रक एमीटर  शे्रणीिम में जोड़ा जाता है यह पररपथ के प्रनतरोध को नह ीं 
बढाएगा/ पररपथ से अचधकतम धारा को प्रवाहहत करेगा 

 

(iii) • ग्राफ Aशे्रणीिम सींयोजन के ललए  

         

        • ग्राफ B पाश्वािम सींयोजन के ललए  

 

 

1 

 

 

 

 

 

 

1 

 

 

 

 

1 

 

1 

 

1 
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 खण्ड - ड   

37 (i) 

 
(ii) • ये ठोस और कठोर होते हैं। 
       • ये पानी में घुलनिील होते हैं 
   • वे जल य ववलयन में या गललत अवथथा में ववद्युत ्का पररचालन करते है।  

(िोई अन्य)    (िोई िो) 
(iii) (A)• सोडडयम परमाणु के सबसे बाहर  कक्ष में एक इलेक्रॉन होता है, 

           • इस इलेक्रॉन को खोकर Na + आयन बनाकर यह थथाई ववन्यास   

             प्राप्त करता है/ 
                                                   𝐍𝐚   →        𝐍𝐚+ +  𝐞− 

2,8,1             2,8 –थथाई  

अथवा  
 

(iii) (B)  

(i) ठोस अवथथा में रढु सींरचना के कारण आयनों की गनत सींभव नह ीं है/  

        (ii) कैथोड पर H2 गैस मुक्त होती है । 

 

1 

 

 

 

 

½ , ½ 
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1 
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38 (i) लैंचगक जनन में नर और मादा युग्मकों का सींलयन होता है, स्जसमें उनके 

लक्षण लमचश्रत हो जाते है जो सींतनत में लक्षणों में लभन्नता पैदा करता है। 
(ii)  
F1संिवि  F2संिवि 

यहउन संिवियों कोसंदवभणिकरिाहजैोमािा-

वपिाकेबीचसंकरर्सेिरंुिउत्पन्नहोिेहैं। 

F1संिवि में केिल िभािी लक्षर् िदवशणि 

होिे हैं   

 F1पीढीकेपौिोंकेबीचसंकरर् 

सेउत्पन्नसंिविसंदवभणिकरिाह।ै 

F2संिवि में िभािी और अिभािी 

दोनों लक्षर् िदवशणि होिे हैं  

                          (कोई एक) 

(iii) (A) क्योंक्रक अगर जीवों की आबाद  का एक थथान बदल हदया जाए, तो पूर  
आबाद  का सफाया हो सकता है। हालाींक्रक, अगर इस आबाद  में ववववधताएीं 
मौजूद हैं तो उनके जीववत रहने की कुछ सींभावना है। 

[वैिह्पपि उत्तर] 

यहद समिीतोरण जल में बैक्ट ररया की एक कॉलोनी है और अगर ग्लोबल 

वालमिंग से इस पानी का तापमान बढ जाता है, तो अचधकाींि बैक्ट ररया मर 

जाएींगे, लेक्रकन गमी के प्रनतरोधी कुछ वेररएींट जीववत रहेंगे और आगे बढेंगे। इस 

प्रकार ववववधताएीं समय के साथ प्रजानतयों के अस्थतत्व के ललए उपयोगी होती हैं। 

1 
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(अन्य कोई) 

अथवा 
(iii) (B)  

* झुरीदार, पीले 

* गोल, हरे 
* यहद दो या अचधक लक्षण िालमल हैं, तो माता-वपता में मौजूदसींयोजन के 

बावजूद सींतनतयोँ में उनके जीन थवतींत्र रूप से वींिानुगत होत ेहै  

 

 

 

 

½ 
 

½ 
 

 

1 

 

 

 

 

 

 

4 

39 
(i) ह रे का अपवतानाींक =   

diamondinlightofVelocity

vacuuminlightofVelocity
 

ह रे में प्रकाि का वेग = 
422

s/m103 8




 = 1·23108 m/s  

(ii) काबान डाइसल्फाइड में  ∠r < काींच में  ∠r < जल में  ∠r 

 

(iii) (A) • काींच 

  • पानी से सघन है क्योंक्रक पानी में प्रकाि की गनत काींच में प्रकाि की गनत से 
अचधक है/ जल की अपवातनाक की अपेक्षा काींच का अपवातनाक अचधक 
होता है 
(B) प्रकाि पानी से काँच में बबना झुके प्रवेि करेगा ( अववचललत / सीधा) 
क्योंक्रक इस प्रकरण मे              ∠𝐢 = 𝟎 ;  ∠𝐫 = 𝟎 

 

                                    अथवा  
(iii) (B) 
  

n काींच= 
𝟑

𝟐
                

nजल = 
3

4
 

vकाींच = s/m102 8  

 

nकाींच = 
( )

( )gvglasslightofspeed

cvacuuminlightofspeed
 

C =  nकाींच  vकाींच  

= 
𝟑

𝟐
× 𝟐 × 𝟏𝟎𝟖𝒎/𝒔 

= sm /103 8  =   

vजल= 
watern

C
 = 

3

4

s/m103 8
 

= 
4

9
108 m/s  =2.25 x 108 m/s   

½ 

 

½ 

 

1 

 

½ 

 

½ 
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                                                               ************ 
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Strictly Confidential: (For Internal and Restricted use only) 
Secondary School Examination, 2023 

Marking Scheme – Science  (SUBJECT CODE -086)  HINDI 
(PAPER CODE –31/4/2) 

General Instructions: - 
1. You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious 
problems which may affect the future of the candidates, education system and 
teaching profession. To avoid mistakes, it is requested that before starting 
evaluation, you must read and understand the spot evaluation guidelines carefully. 
 

2. “Evaluation policy is a confidential policy as it is related to the confidentiality 
of the examinations conducted, Evaluation done and several other aspects. Its’ 
leakage to public in any manner could lead to derailment of the examination 
system and affect the life and future of millions of candidates. Sharing this 
policy/document to anyone, publishing in any magazine and printing in News 
Paper/Website etc may invite action under various rules of the Board and IPC.” 

 
3. Evaluation is to be done as per instructions provided in the Marking Scheme. It 

should not be done according to one’s own interpretation or any other consideration. 
Marking Scheme should be strictly adhered to and religiously followed. However, 
while evaluating, answers which are based on latest information or knowledge 
and/or are innovative, they may be assessed for their correctness otherwise 
and due marks be awarded to them. In class-X, while evaluating two 
competency-based questions, please try to understand given answer and even 
if reply is not from marking scheme but correct competency is enumerated by 
the candidate, due marks should be awarded.  

 
4. The Marking scheme carries only suggested value points for the answers. These are 

in the nature of Guidelines only and do not constitute the complete answer. The 

students can have their own expression and if the expression is correct, the due 

marks should be awarded accordingly. 

5. The Head-Examiner must go through the first five answer books evaluated by each 
evaluator on the first day, to ensure that evaluation has been carried out as per the 
instructions given in the Marking Scheme. If there is any variation, the same should 
be zero after delibration and discussion. The remaining answer books meant for 
evaluation shall be given only after ensuring that there is no significant variation in 
the marking of individual evaluators. 
 

6. Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” 

be marked. Evaluators will not put right (✓)while evaluating which gives an 

impression that answer is correct and no marks are awarded. This is most common 
mistake which evaluators are committing. 

 
7. If a question has parts, please award marks on the right-hand side for each part. 

Marks awarded for different parts of the question should then be totaled up and 
written in the left-hand margin and encircled. This may be followed strictly. 

 
8. If a question does not have any parts, marks must be awarded in the left-hand 

margin and encircled. This may also be followed strictly. 
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9. If a student has attempted an extra question, answer of the question deserving more 
marks should be retained and the other answer scored out with a note “Extra 
Question”. 

 
10. No marks to be deducted for the cumulative effect of an error. It should be penalized 

only once. 
 

11. A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question 
Paper) has to be used. Please do not hesitate to award full marks if the answer 
deserves it. 
 

12. Every examiner has to necessarily do evaluation work for full working hours i.e., 8 
hours every day and evaluate 20 answer books per day in main subjects and 25 
answer books per day in other subjects (Details are given in Spot Guidelines).This is 
in view of the reduced syllabus and number of questions in question paper. 
 

13. Ensure that you do not make the following common types of errors committed by the 
Examiner in the past:- 

• Leaving answer or part thereof unassessed in an answer book. 

• Giving more marks for an answer than assigned to it. 

• Wrong totaling of marks awarded on a reply. 

• Wrong transfer of marks from the inside pages of the answer book to the title 
page. 

• Wrong question wise totaling on the title page. 

• Wrong totaling of marks of the two columns on the title page. 

• Wrong grand total. 

• Marks in words and figures not tallying / not same. 

• Wrong transfer of marks from the answer book to online award list. 

• Answers marked as correct, but marks not awarded. (Ensure that the right tick 
mark is correctly and clearly indicated. It should merely be a line. Same is with 
the X for incorrect answer.) 

• Half or a part of answer marked correct and the rest as wrong, but no marks 
awarded.  

 

14. While evaluating the answer books if the answer is found to be totally incorrect, it 
should be marked as cross (X) and awarded zero (0)Marks. 
  

15. Any unassessed portion, non-carrying over of marks to the title page, or totaling error 
detected by the candidate shall damage the prestige of all the personnel engaged in 
the evaluation work as also of the Board. Hence, in order to uphold the prestige of all 
concerned, it is again reiterated that the instructions be followed meticulously and 
judiciously. 
 

16. The Examiners should acquaint themselves with the guidelines given in the 
“Guidelines for spot Evaluation” before starting the actual evaluation. Examiners 
should acquaint themselves with the guidelines given in the Guidelines for spot 
Evaluation before starting the actual evaluation. 
 

17. Every Examiner shall also ensure that all the answers are evaluated, marks carried 
over to the title page, correctly totaled and written in figures and words. 
 

18. The candidates are entitled to obtain photocopy of the Answer Book on request on 
payment of the prescribed processing fee. All Examiners/Additional Head 
Examiners/Head Examiners are once again reminded that they must ensure that 
evaluation is carried out strictly as per value points for each answer as given in the 
Marking Scheme. 
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अंकन योजना (कक्षा - X) 

माध्यममक मिद्यालय परीक्षा, 2023 

मिज्ञान (मिषय कोड -086) 

[प्रसन पत्र कोड :31/4/2] 

अमिकतम अंक : 80 

प्रश्नसं . 
अपेमक्षतउत्तर  / मूल्यअंक 

अंक कुलअं

क  

 खण्ड – क     

1. (c) 1 1 

2. (c) 1 1 

3. (b) 1 1 

4. (d) 1 1 

5. (b) 1 1 

6. (b) 1 1 

7. (c) 1 1 

8. (d) 1 1 

9. (a) 1 1 

10. (c) 1 1 

11. (b) 1 1 

12. (b) 1 1 

13. (d) 1 1 

14. (b) 1 1 

15. (c) 1 1 

16. (c) 1 1 

17. (b) 1 1 

18. (c) 1 1 

19. (d) 1 1 

20. (a) 1 1 

 खण्ड – ख   

21 (i) यह सयूय से आने िाली हावनकारक पराबैंगनी विवकरणों से पथृ्िी की सतह को सरुक्षा प्रदान 

करती ह ै

  

(ii) यह सी.एफ.सी. (क्लोरोफ्लोरोकाबयन) के कारण हुआ था विसका उपयोग 

रेवििरेंट/अवननशमन यंत्र/एरोसोल में वकया िाता है 

 

1 

 

 

1 

 

 

 

2 
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22 (A) (i) वनकट - दृवि दोष /fudV–f"Vrk  

(ii)•अविनेत्र लेंस की िक्रता का अत्यविक होना   

 •नेत्र गोलक का लम्बा हो िाना   

   (iii) अितल लेंस/ vilkjh ysal   

अथिा 

(B)   •िायमंुडल में कणों का साइज़ दृश्य प्रकाश की तरंगदैर्धयय की तलुना में छोटा होता ह ै

इसवलए िे कम तरंगदरै्धयय िाले प्रकाश का प्रकीणयन करते हैं।i.e.नीला रंग 

•अंतररक्ष में ,कणों की अनपुवथथवत के कारण प्रकाश का प्रकीणयन नहीं होता ह।ै(िायमंुडल  

dk u gksuk ) 

½ 

½ 

½ 

½ 

 

 

1 

 

 

1 

 

 

 

 

 

 

 

 

 

2 

23 • अंिेरे में रखा पौिा प्रकाश संशे्लषण नहीं कर पता ह ैऔर ऑक्सीिन की अनपुवथथवत में 

िह श्वशन नहीं कर सकता ह ै। 

• प्रकाश में रखा पौिा प्रकाश संशे्लषण कर CO2को ऑक्सीिन में पररिवतयत करता ह ैविसे 

िह  श्वशन में उपयोग कर लेता ह ै। 

 

1 

 

1 

 

 

 

2 

24 • वपत्त रस िोिन को क्षारीय बनाता ह ैविससे अन्याशवयक एंिाइम इस पर  कायय कर पाते 

हैं। 

 

• यह िसा की बड़ी गोवलकाओ को छोटी -  छोटी गोवलकाओ में खंवडत कर दतेा ह ै/ िसा 

का इमल्सीकरण हो िाता है 

 

 

1 

 

 

1 

 

 

 

 

2 

25 • एड्रीनलीन  

•तीन अनवुक्रयाएँ :- 

(a) यह ह्रदय की िड़कन को बढाता ह।ै  

(b) पाचन तंत्र में रुविर की आपवूतय कम हो िाती ह।ै  

(c) श्वास दर बढ िाती ह।ै 

(d) त्िचा में रुविर की आपवूतय कम हो िाती ह।ै।                            (कोई तीन सही म दुं) 

½ 

 

 

 

 

½×3 

 

 

 

 

 

2 

26 (A) (i)•कॉपर II क्लोराइड /कॉपर क्लोराइड /क्यवुप्रक क्लोराइड /CuCl2 

• रंग : नीला -हरा    

(ii)CuO + 2HCl →CuCl2 + H2O  

अथिा  

(B)  X : सोवडयम क्लोराइड/ NaCl  

 Y : हाइड्रोिन / H2   

 Z : क्लोरीन / Cl2   

 B : विरंिक चणूय /CaOCl2  

½, 
 

½ 

1 

 

½ 

½ 

½ 

½ 

 

 

 

 

 

 

 

 

2 



086_31/4/2_विज्ञान # पषृ्ठ-5 

 
 

 खण्ड – ग    

27 • 

िैि वनम्नीकरणीय अिैि वनम्नीकरणीय 

िैि वनम्नीकरणीय िैविक प्रक्रम 

अपघवटत हो िाते ह ै। 

अिैि वनम्नीकरणीय िैविक प्रक्रम में 

अपघवटत नहीं होते ह ै। 

 

• संवचत िैि वनम्नीकरणीय अपवशिों का प्रिाि : 

(i) बदब ू  

(ii) रोगिाहकों के वलए प्रिनन थथान (या कोई अन्य)  

• संवचत अिैि वनम्नीकरणीय अपवशिों का प्रिाि : 

(i) िैि- आिियन  

(ii) मदृा की उियरता को प्रिावित करता ह।ै ( या कोई अन्य)  

 

 

1 

 

 

 

½ 

½ 

 

½ 

½ 

 

 

 

 

 

 

 

 

 

 

3 

28 (A) (i) प्रत्यावर्ती धारा को ववद्युर्त शक्तर्त को सुदरू स्थानों पर बिना अधधक ववद्युर्त  

ऊर्ाा क्षय के प्रेविर्त ककया र्ा सकर्ता है।  

 (ii)घरेलू आपूर्र्ता - izR;korhZ /kkjk (AC) 

     शुष्क सेल की िैटरी – fn"V /kkjk  (DC ) 

   

(iii) र्ि ववद्युर्त पररपथ में फ्यूर् के अनुमर्ताांक(रेटटांग) से अधधक ववद्युर्त धारा 
प्रवाटहर्त होर्ती है   rks ;g fi/ky dj ववद्युर्त पररपथ   dks rksM nsrk gSA 

अथवा  
(B) एक पररनाललका पर चुांिकीय क्षेत्र रेखाएां 
 

 

 

 

 

 

 
यटद धारा या चुांिकीय क्षेत्र की टदशा धचक्ननर्त नहीां है र्तो आधा अांक  dkV दें 
 

 

बि ांद ुA पर अधधकर्तम  

चुांिकीय क्षेत्र रेखाएां िहुर्त पास और घर्नर्त हैं/ ifjukfydk esa 'n' Qsjks dh la[;k ds dkj.k 

चुांिकीय क्षेत्र esa वदृ्धि हो जाती है 
बि ांद ुB पर न्यूनर्तम 

चुांिकीय क्षेत्र रेखाएां एक दसुरे से काफी दरू हैं 

1 

 

½ 

½ 

 

 

1 

 

 

 

 

 

1 

 

 

 

 
 

 

½ 
 

 ½ 

 

½ 

 ½ 
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29 

 

 

अितल लेंस उत्तल लेंस 

• अत्यविक छोटा प्रवतवबम्ब /m<1 •बड़ा (वििवियत) प्रवतवबम्ब 

• v< u/  प्रवतवबम्ब दरूी <वबम्ब दरूी  •v >u/ प्रवतवबम्ब दरूी >वबम्ब दरूी 

•  वनकट-द्दवृि दोष  

- अपसारी लेंस/ अितल लेंस 

- प्रवतवबम्ब को िापस दृविपटल पर ले आता है 

• दीघय–द्दवृि दोष  

- अविसारी लेंस/ उत्तल लेंस 

- प्रवतवबम्ब को दृविपटल पर ले आता है 

 

 

 

½  
 

½ 

 
 

½  

½ 

 

½ 

½  

 

 

 

 

 

 

 

 

 

 

 

3 

30 (A) (i) उत्तल लेंस  /अविसारी लेंस 

   

 (ii)क्षमता , P = +2D   

 

f (m) =  
1

P
  

f = 
2

1
 = 0·5 m = 50cm   

u = -100cm 

 

f

1
 = 

v

1
 - 

u

1
 

v

1
 = 

f

1
 + 

u

1
 = 

50

1
 - 

100

1
 = 

100

1
 

 v = 100 cm  = 1 m 

 

 केिल प्रमतम म्  दूरी के मलए िैकमल्पक उत्तर 

f= 50 cm,  u=1m या 100 cm = 2f 

u=v  

अथिा 

(B) (i)  

अपितयन के पश्चात ्अपसारी लेंस के मखु्य अक्ष के समांतर प्रकाश की अनेक वकरणें लेंस के 

मखु्य अक्ष पर एक वबंद ुसे अपसररत होती प्रतीत होती ह।ै 

इस वबंद ुको मखु्य फोकस कहा िाता ह।ै 

 

     1 

 

 

 

½  

 

½  

 

 

½  

 

 

½  

 

 

 

 

 

 

 

 

1 
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 (ii)लेंस के प्रकावशक कें द्र और मखु्य फोकस के बीच की दरूी  

 

 

 

1 

 

 

1 

 

 

 

 

 

3 

31 (A) (i) i पश्यन की गर्र्त की सहायर्ता से भोर्न एक ववलशस्ट स्थान से  

       ग्रहण कीया  र्ार्ता है 

(ii) 

     (a) एक अम्लीय माध्यम र्तैयार करर्ता है र्ो एांर्ाइम की किया में सहायक है/  

vUrxZzfgr Hkkstu ds lkFk lw{e thoksa dks lekIr djukA 

र्ीवों को र्नक्ष्िय करना    

     (b)izksVhuksa का पाचन  

(c)    पाचक रसों के साथ भोर्न को अच्छी र्तरह लमलाना कुमााकुां धचर्त गर्र्त द्वारा 
भोर्न को आगे की ओर भरे्ना 
 (d) स्टाचा को शका रा में पररवर्र्तार्त करना  
  

अथिा 

 

(B)  

 (i) प्रत्येक चि में रुधधर दो िार हृदय में र्ार्ता है।  

 (ii)• शरीर  को उच्च दक्षर्तापूणा ऑतसीर्न की पूर्र्त ा के ललये रोकना   
• इस र्तरह का िँटवारा शरीर को उच्च दक्षर्तापूणा ऑतसीर्न की पूर्र्त ा करर्ता है र्ो 
पक्षक्षयों और स्र्तनपार्ययो की मदद करर्ता है क्र्न्हें अपने शरीर का र्तापिम िनाए 

रखने के ललए र्नरांर्तर ऊर्ाा की आवश्यकर्ता होर्ती है  

1 

 

 

½ 

 

½ 

 

½ 

 

½ 

 

 

 

 

1 

1 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

32 (i) अम्लीकृत िल में शदु्ध िल की तलुना में अविक आयन होते हैं। 

 (ii) KOH (s) ⎯⎯⎯ →⎯
O2H

 K+(aq) +  OH-(aq) 

(iii) यह प्रवक्रया अत्यविक ऊष्माक्षेपी ह ै/ अत्यविक ताप(गमी) का कारण हो सकती ह/ै 

ऊष्मा उत्सवियत होती ह ैिो हावन पहुचंा सकती ह ै/ वमश्रण आथफवलत होकर बाहर आ सकता 

ह।ै 

1 
 

1 

 

1 

 

 

 

 

 

3 

33 (i) •ty की चालकर्ता िढाने के ललए  

•हाइड्रोर्न – कैथोड   -   ऑतसीर्न   -    एनोड  

•एनोड : कैथोड 

1 :  2 

/ कैथोड पर मुतर्त हाइड्रोर्न का आयर्तन एनोड पर मतुर्त ऑतसीर्न से दोगुना 
होर्ता है। 
   

(ii) •सफेद लसल्वर तलोराइड धूसर हो र्ार्ता है। 

½ 

½, ½ 

 

 
 

½ 
 

 

 

½ 
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•वियोिन (अपघटन) अविवक्रया / प्रकाशीय वियोिन (अपघटन) ½ 3 

 खण्ड – घ    

34 (i)  वथथर तापमान पर एक चालक से प्रिावहत िारा , विििा्तर के  

समानपुावतक होती ह।ै/ VαI / IαV .  

 

 

 

 

 

 

 

 

 

 

 

 

                                               (कोई एक) 

(ii) अमीटर श्रेणीक्रम में िोड़ा िाता ह ैऔर मापक यंत्र के रूप में इसे पररपथ में प्रिावहत िारा 

में पररितयन नहीं करना चावहए। 

 

(iii) • ग्राफ Aश्रेणीक्रम संयोिन के वलए  

•(कम ढलान और अविक प्रवतरोि) 

  • ग्राफ B पाश्वयक्रम संयोिन के वलए  

•(अविक ढलान और कम प्रवतरोि) 

 

1 

 

 

 

 

 

 

 

 

 

1 

 

 

 

1 

 

 

½ 

½ 

½ 

½ 
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35 (i) हाइड्रा में प्रेक्षक्षर्त अलैंधगक र्नन के दो ववधधए: 

 (a )मुकुलन : एक ववलशष्ट स्थान पर कोलशकाओ के र्नयलमर्त ववभार्न के  

कारण एक उभार ववकलसर्त होर्ता है। यह उभार वदृ्धध करर्ता  
हुआ नन्हे र्ीव में िदल र्ार्ता है र्तथा पूणा ववकलसर्त होने  
पर, र्नक से अलग होकर स्वर्तांत्र र्ीव िन र्ार्ता हैं।   

 (b) पुनर्जनन: हाइड्रा को कई टुकड़ों में काटने देने पर प्रत्येक टुकड़ा एक पूणा र्ीव 

में ववकलसर्त हो र्ार्ता है। 
  

(ii)•पररभािा: र्ि पौधों के कार्यक भाग र्ैस ेर्ड़, र्तना या पत्ती का उपयोग नए 

पौधों को उत्पन्न करने के ललए ककया र्ार्ता है।  

• (a) इस प्रकार उगाये गए पौधों में िीर् द्वारा उगाए पौधों की अपेक्षा पुष्प  

 

 

½,1 

 

 

½,1 

 

 

1 
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एवां फल कम समय में लगने हैं। 
( b) केला, नारांगी, गुलाि और चमेली र्ैस ेपौधों को उगाने के ललए उपयोगी  
है र्ो िीर् उत्पन्न करने की क्षमर्ता खो चुके है। 
( c) उत्पाटदर्त पौधे आनुवांलशक रूप से सभी ववशेिर्ताओां के ललए र्नक पौधे के  

समान हैं।(कोई दो) 

 

 

½,½ 

 

 

 

 

 

 

5 

36. (A) (i) सहसंयोिक यौवगकों में मकु्त आयन/इलेक्रॉन नहीं होते हैं   

(ii)•यह  C4+ कैटायन(िनायन) नहीं बनाता ह ैक्योंवक चार इलेक्रोनों को खोने के वलए 

अत्यविक ऊिाय की आिश्यकता होगी। 

• काबयन C4- ऐनायन (ऋणायन) नहीं बनाता ह ैक्योंवक (6 प्रोटोन िाले)   

  छोटे नाविक में दस इलेक्रान िारण करना मवुश्कल होता ह ैI  

 

(iii)   

 

 

 

 

(iv) (a) ऑक्सीिन / O 

(b) क्लोरीन  / Cl 

अथिा 

 (B) (i)• साबनु के अण ुलंबी श्रृंखला िाले काबोवक्सवलक अम्लों के सोवडयम या 

पोटेवशयम लिण होते हैं / RCOO-Na+. 

• साबनु का आयवनक वसरा पानी से वक्रया करता ह ैिबवक काबयन शृंखला 

तैलीय गंदगी/कण के साथ वक्रया करता ह।ै साबनु के अण ुइस प्रकार एक वमसेली सँरचना 

तैयार करते हैं विसमें अणुओ ंका एक वसरा तेल की ओर और दसूरा बहार पानी की ओर होता 

ह ैइससे पानी में इमल्शन बनता ह ै। इस प्रकार साबनु के वमसेल मैल को पानी में वनकालने या 

घलुाने में मदद करते हैं और हमारे कपड़े साफ हो िाते हैं। 

  

 

 

 

 

 

 

 

 

1 

 

1 

 

 1 

 

 

 

1 

 

 

½ 

½ 

 

 

1 

 

 

 

2 

 

 

 

 

 

1 
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(ii) अपमाियक कठोर िल में उपवथथत कैवल्शयमएिं मैननीवशयमआयनों केसाथअघलुनशील 

पदाथय/अिके्षप  )  मैल थकम नहीं बनात ेहैं । इस प्रकार िह कठोर िल में िी प्रिािी बने रहते 

हैं। 

 

1 

 

 

5 

 खण्ड - इ    

37 
(i) हीरे का अपवर्तानाांक =   

diamondinlightofVelocity

vacuuminlightofVelocity
 

हीरे में प्रकाश का वेग = 
422

s/m103 8




 = 1·23108 m/s  

(ii) कािान डाइसल्फाइड में  ∠r < काांच में  ∠r < र्ल में  ∠r 

 

(iii) (a) काांच, पानी से सघन है तयोंकक पानी में प्रकाश की गर्र्त काांच में प्रकाश की 
गर्र्त से अधधक है/ र्ल की अपवार्तनाक की अपेक्षा काांच का अपवार्तनाक 
अधधक होर्ता है 
(b) प्रकाश पानी से काँच में बिना झुके प्रवेश करेगा ( अववचललर्त / सीधा) तयोंकक 

इस प्रकरण म े
             ∠𝐢 = 𝟎 ;  ∠𝐫 = 𝟎 

 

अथवा 
(iii) (B) 

nकाांच  = 2

3

 

 nर्ल = 
3

4
 

 vकाांच = s/m102 8  

 

 nकाांच = 
( )

( )gvglasslightofspeed

cvacuuminlightofspeed
 

 C =  nकाांच  vकाांच  

 =

s/m102
2

3 8
 

 = sm /103 8  =   

 vर्ल= 
watern

C
 = 

3

4

s/m103 8
 

 = 
4

9
108 m/s  =2.25 x 108 m/s   

 

 

½ 

 

½ 
 

1 

 

½ 
 

½ 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

1 

 

 

 

1 
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38 (i) लैंधगक र्नन में नर और मादा युग्मकों का सांलयन होर्ता है, क्र्समें उनके लक्षण 

लमधिर्त हो र्ार्ते है र्ो सांर्तर्र्त में लक्षणों में लभन्नर्ता पैदा करर्ता है। 
(ii)  

F1संतवत  F2संतवत 

यहउन संतवतयों कोसंदवियतकरताहिैोमाता-

वपताकेबीचसंकरणसेतरंुतउत्प्नहोतेहैं। 

F1संतवत में केिल प्रिािी लक्षण प्रदवशयत 

होते हैं   

 F1पीढीकेपौिोंकेबीचसंकरण 

सेउत्प्नसंतवतसंदवियतकरताह।ै 

F2संतवत में प्रिािी और अप्रिािी 

दोनों लक्षण प्रदवशयत होते हैं  (कोई 

एक) 

(iii) (A) 

तयोंकक अगर र्ीवों की आिादी का एक स्थान िदल टदया र्ाए, र्तो पूरी आिादी का 
सफाया हो सकर्ता है। हालाांकक, अगर इस आिादी में ववववधर्ताएां मौरू्द हैं र्तो उनके 

र्ीववर्त रहने की कुछ सांभावना है। 
[वैकक्ल्पक उत्तर] 

यटद समशीर्तोष्ण र्ल में िैतटीररया की एक कॉलोनी है और अगर ग्लोिल वालमिंग 

से इस पानी का र्तापमान िढ र्ार्ता है, र्तो अधधकाांश िैतटीररया मर र्ाएांगे, लेककन 

गमी के प्रर्र्तरोधी कुछ वेररएांट र्ीववर्त रहेंगे और आगे िढेंगे। इस प्रकार ववववधर्ताएां 
समय के साथ प्रर्ार्र्तयों के अक्स्र्तत्व के ललए उपयोगी होर्ती हैं। 
(अन्य कोई) 

अथवा 
(iii) (B)  

* झुरीदार, पीले 

* गोल, हरे 
* यटद दो या अधधक लक्षण शालमल हैं, र्तो मार्ता-वपर्ता में मौरू्दसांयोर्न के िावरू्द 

सांर्तर्र्तयोँ में उनके र्ीन स्वर्तांत्र रूप से वांशानुगर्त होर्ते है  

1 

 

 

 

 

 

 

1 

 

 

 

2 

 

 

 

 

 

 

 

 

 

 

 

½ 
 

½ 
 

 

1 
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39 (i) 

 

 

 

 

 

 
(ii) 
ये ठोस और कठोर होर्ते हैं। 
•ये पानी में घुलनशील होर्ते हैं 
व ेर्लीय ववलयन में या गललर्त अवस्था में ववद्युर्त ्का पररचालन करर्ते है।  

 

 

 

1 
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(कोई अन्य)    (कोई दो) 
(iii) सोडडयम परमाणु के सिसे िाहरी कक्ष में एक इलेतरॉन होर्ता है, इस इलेतरॉन 

को खोकर Na + आयन िनाकर यह स्थाई ववन्यास प्राप्र्त करर्ता है/ 
𝐍𝐚      →      𝐍𝐚+ +    𝐞− 

2,8,1            2,8       –स्थाई  

अथवा  
 

(iii) (B)  

(i) ठोस अवस्था में द्रढु सांरचना के कारण आयनों की गर्र्त सांभव नहीां है/  

(ii) कैथोड पर H2 गैस मुतर्त होर्ती है । 

 

½ , ½ 

 

1 

 

1 

 

 

 

1 

1 
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Strictly Confidential: (For Internal and Restricted use only) 

Secondary School Examination, 2023 

Marking Scheme – Science  (SUBJECT CODE -086) HINDI 

(PAPER CODE –31/4/3) 

General Instructions: - 

 

1. You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. To 

avoid mistakes, it is requested that before starting evaluation, you must read and understand 

the spot evaluation guidelines carefully. 

 

2. “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to 

public in any manner could lead to derailment of the examination system and affect the 

life and future of millions of candidates. Sharing this policy/document to anyone, 

publishing in any magazine and printing in News Paper/Website etc may invite action 

under various rules of the Board and IPC.” 

 

3. Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be 

done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, answers 

which are based on latest information or knowledge and/or are innovative, they may be 

assessed for their correctness otherwise and due marks be awarded to them. In class-X, 

while evaluating two competency-based questions, please try to understand given 

answer and even if reply is not from marking scheme but correct competency is 

enumerated by the candidate, due marks should be awarded.  

 

4. The Marking scheme carries only suggested value points for the answers. These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can have 

their own expression and if the expression is correct, the due marks should be awarded 

accordingly. 

5. The Head-Examiner must go through the first five answer books evaluated by each evaluator 

on the first day, to ensure that evaluation has been carried out as per the instructions given in 

the Marking Scheme. If there is any variation, the same should be zero after delibration and 

discussion. The remaining answer books meant for evaluation shall be given only after 

ensuring that there is no significant variation in the marking of individual evaluators. 

 

6. Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

 

7. If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totaled up and written in the left-

hand margin and encircled. This may be followed strictly. 

 

8. If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

 

9. If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

 

10. No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 
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11. A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question Paper) 

has to be used. Please do not hesitate to award full marks if the answer deserves it. 

 

12. Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books per 

day in other subjects (Details are given in Spot Guidelines).This is in view of the reduced 

syllabus and number of questions in question paper. 

 

13. Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:- 

• Leaving answer or part thereof unassessed in an answer book. 

• Giving more marks for an answer than assigned to it. 

• Wrong totaling of marks awarded on a reply. 

• Wrong transfer of marks from the inside pages of the answer book to the title page. 

• Wrong question wise totaling on the title page. 

• Wrong totaling of marks of the two columns on the title page. 

• Wrong grand total. 

• Marks in words and figures not tallying / not same. 

• Wrong transfer of marks from the answer book to online award list. 

• Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 

incorrect answer.) 

• Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

 

14. While evaluating the answer books if the answer is found to be totally incorrect, it should be 

marked as cross (X) and awarded zero (0)Marks. 

  

15. Any unassessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned, 

it is again reiterated that the instructions be followed meticulously and judiciously. 

 

16. The Examiners should acquaint themselves with the guidelines given in the “Guidelines for 

spot Evaluation” before starting the actual evaluation. Examiners should acquaint themselves 

with the guidelines given in the Guidelines for spot Evaluation before starting the actual 

evaluation. 

 

17. Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the 

title page, correctly totaled and written in figures and words. 

 

18. The candidates are entitled to obtain photocopy of the Answer Book on request on payment of 

the prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners 

are once again reminded that they must ensure that evaluation is carried out strictly as per 

value points for each answer as given in the Marking Scheme. 
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अंकन योजना 

माध्यममक मिद्यालय परीक्षा, 2023 

मिज्ञान (मिषय कोड-086) 

[पेपर कोड: 31/4/3] 

अमिकतम अंक : 80 

प्रश्न 

सं. 
अपेमक्षत उत्तर / मूल्य अंक 

अंक  कुल 

अंक  

 खण्ड - क    

1. (b) 1 1 

2. (c) 1 1 

3. (d) 1 1 

4. (b) 1 1 

5. (c) 1 1 

6. (c) 1 1 

7. (b) 1 1 

8.  (b) 1 1 

9. (b) 1 1 

10. (d) 1 1 

11. (a) 1 1 

12. (a) 1 1 

13. (c) 1 1 

14. (b) 1 1 

15. (d) 1 1 

16. (b) 1 1 

17. (d) 1 1 

18. (a) 1 1 

19. (b) 1 1 

20. (c) 1 1 

 खण्ड – ख    

21 • आँवसिन  

• प्रकाश की उपवथिवि में आँवसिन वििरिि होकि प्रिोह के छाया िाले भाग में आ जािा ह ै

औि प्रकाश िे दिू िाली भाग में आँवसिन का िाांद्रण कोवशकािो को लम्बाई में िवृि के वलए 

उद्धीवपि कििा ह ैवजििे पादप प्रकाश की ओि मड़ुिा प्रिीि होिा ह ैI  

1 

 

 

1 

 

 

 

 

 

2 

22 (A) (i) • कॉपि II सलोिाइड /कॉपि सलोिाइड /सयवुप्रक सलोिाइड /CuCl2  

           • िांग : नीला -हिा    

½ 
 

½ 
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(ii) CuO + 2HCl →CuCl2 + H2O  

अथिा  

(B)   X : िोवडयम सलोिाइड/ NaCl  

 Y : हाइड्रोजन / H2   

 Z : सलोिीन / Cl2   

 B : वििांजक चणूण / CaOCl2  

1 

 
 

½ 

½ 

½ 

½ 

 

 

 

 

 

 

2 

23 • अांिेिे में िखा पौिा प्रकाश िांशे्लषण नहीं कि पिा ह ैऔि ऑसिीजन की अनपुवथिवि में 

िह श्वशन नहीं कि िकिा ह ै। 

• प्रकाश में िखा पौिा प्रकाश िांशे्लषण कि CO2 को ऑसिीजन में परििविणि कििा ह ै

वजिे िह  श्वशन में उपयोग कि लेिा ह ै। 

 

1 

 

1 

 

 

 

2 

24  लविका  

कायण : 

(i) पचा हुआ ििा क्षदु्राांि द्वािा अिशोवषि ििा का िहन     

(ii)  अविरिक्त ििल को बाह्य कोवशकीय अिकाश िे िापि रुविि में ले जाना    

1 

 

½ 

½ 

 

 

 

2 

25 बगीचों में पौिों औि जन्ि ुजैिे जैि घटक होिे हैं जो पिथपि पारििांत्र के अजैि घटकों जैिे 

पानी, हिा औि वमट्टी के िाि अन्योन्यविया कििे ह।ै     

 

2 

 

 

2 

26 (A) (i) वनकट - दृवि दोष  

   (ii)  • अवभनेत्र लेंि की िििा का अत्यविक होना   

  • नेत्र गोलक का लम्बा हो जाना   

   (iii) अििल लेंि / अपिािी लेंि   

अथिा 

(B)   • िायमुांडल में कणों का िाइज़ दृश्य प्रकाश की ििांगदैर्धयण की िलुना में छोटा होिा ह ै

इिवलए िे कम ििांगदरै्धयण िाले प्रकाश का प्रकीणणन कििे हैं। i.e. नीला िांग 

        • अांिरिक्ष में ,कणों की अनपुवथिवि के कािण प्रकाश का प्रकीणणन नहीं होिा ह।ै 

(िायमुांडल की अनपुवथिवि ) 

½ 

½ 

½ 

½ 

 

 

1 

 

 

1 

 

 

 

 

 

 

 

 

 

2 

 खण्ड - ग    

27 (a) •7 

• प्रबल अम्ल औि प्रबल क्षाि का लिण 

(b) • गलुाबी / नािांगी   

• कमजोि क्षाि औि प्रबल अम्ल का लिण 

   (c) • कोई परिििणन नहीं  / नीला  

½ 
 

½ 
 

½  

 ½  

1 

 

 

 

 

 

3 

28 (i) •ty की चालकता बढाने के ललए  

•हाइड्रोजन – कैथोड   -   ऑक्सीजन   -    एनोड  

½ 

½, ½  
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•एनोड : कैथोड 

1 :  2 

/ कैथोड पर मुक्त हाइड्रोजन का आयतन एनोड पर मकु्त ऑक्सीजन स ेदोगुना 
होता है। 
   

(ii) •सफेद लसल्वर क्लोराइड धूसर हो जाता है। 
•मियोजन (अपघटन) अमिमिया / प्रकाशीय मियोजन (अपघटन) 

  

 

½ 

 

 

½ 

½ 

 

 

 

 

 

 

3 

29 वदया ह ै, 

वबम्ब की दिूी , u = -20 cm 

आििणन  m = 
2

1
 

 m = 
u

v−
  v = –mu = -

2

1
 -20 = 10 cm  

दपणण ितू्र  
1

𝑓
 = 

1

𝑣
+ 

1

𝑢
  

f

1
 = 

v

1
+ 

u

1
 = 

10

1
 – 

20

1
 = 

20

1
  

 

f =20 cm 

यवद m = 
3

1
 औि v’ औि u’ िमशः प्रविवबम्ब दिूी औि वबम्ब दिूी ह ै 

    
3

1
 = 

u

'v−
  v’ = 

3

'u−
  

f

1
 = 

'v

1
+ 

'u

1
 

20

1
 = 

'u

3−
 + 

'u

1


20

1
 = 

'u

2−

 
  

 u’ = – 40 cm.  

 

 

 

 

½ , ½ 

 

 

½ 

 

 

½ 

 

 

½ 

 

 

 

 

 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

30 (A) (i) i पश्यन की गतत की सहायता से भोजन एक ववलिस्ट स्थान से  

       ग्रहण ककया जाता है 

(ii) 

     (a) एक अम्लीय माध्यम तैयार करता है जो एंजाइम की किया में सहायक है/  

vUrxZzfgr Hkkstu ds lkFk lw{e thoksa dks lekIr djukA 

जीवों को तनष्क्रिय करना    

     (b)izksVhuksa का पाचन  

(c)    पाचक रसों के साथ भोजन को अच्छी तरह लमलाना कुमााकंुचचत गतत द्वारा 
भोजन को आगे की ओर भजेना 
 (d) स्टाचा को िका रा में पररवततात करना  
  

1 

 

 

½ 

 

 

½ 

 

½ 

½ 
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अथिा 

 

(B)  

 (i) प्रत्येक चि में रुचधर दो बार हृदय में जाता है।  

 (ii)• िरीर  को उच्च दक्षतापूणा ऑक्सीजन की पूतत ा के ललये रोकना   
• इस तरह का बँटवारा िरीर को उच्च दक्षतापूणा ऑक्सीजन की पूतत ा करता है जो 
पक्षक्षयों और स्तनपातययो की मदद करता है ष्क्जन्हें अपने िरीर का तापिम बनाए 

रखने के ललए तनरंतर ऊजाा की आवश्यकता होती है  

 

 

 

1 

1 

 

1 

 

 

 

 

 

 

 

3 

31 (A) (i) प्रत्यावती धारा को ववद्युत िष्क्क्त को सुदरू स्थानों पर बबना अचधक 

ववद्युत  ऊजाा क्षय के प्रेवित ककया जा सकता है।  

 (ii)घरेलू आपूतता - izR;korhZ /kkjk (AC) 

     िुरक सेल की बैटरी – fn"V /kkjk  (DC ) 

   

(iii) जब ववद्युत पररपथ में फ्यूज के अनुमतांक(रेटटगं) से अचधक ववद्युत धारा 
प्रवाटहत होती है   rks ;g fi/ky dj ववद्युत पररपथ   dks rksM nsrk gSA 

अथवा  
(B) एक पररनाललका पर चंुबकीय क्षेत्र रेखाएं 
 

 

 

 

 

 

 
यटद धारा या चंुबकीय क्षेत्र की टदिा चचष्क्ननत नहीं है तो आधा अंक  dkV दें 
 

 

बबदं ुA पर अचधकतम  

चंुबकीय क्षेत्र रेखाएं बहुत पास और घतनत हैं/ ifjukfydk esa 'n' Qsjks dh la[;k ds 

dkj.k चंुबकीय क्षेत्र esa वदृ्धि हो जाती है 
बबदं ुB पर न्यूनतम 

चंुबकीय क्षेत्र रेखाएं एक दसुरे से काफी दरू हैं 

1 

 

½ 

½ 

 

 

1 

 

 

 

 

 

1 

 

 

 

 

 

½ 

½ 

 

½ 

½ 
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32 • 

जैव तनम्नीकरणीय अजैव तनम्नीकरणीय 

जैव तनम्नीकरणीय वर्जया जैववक 

प्रिम द्वारा अपघटटत हो जाते है । 
अजैव तनम्नीकरणीय जैववक वर्जया 
प्रिम में अपघटटत नहीं होते है । 

 

• संचचत जैव तनम्नीकरणीय अपलिरटों का प्रभाव: 

बदबू  

 

 

1 

 

 

 

½ 
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रोगवाहकों के ललए प्रजनन स्थान (या कोई अन्य)  

• संचचत अजैव तनम्नीकरणीय अपलिरटों का प्रभाव : 

जैव- आवधान  

मदृा की उवारता को प्रभाववत करता है। ( या कोई अन्य)  

½ 

 

½ 

½ 

 

 

 

 

3 

33 (A)  

• एक काांच के वप्रज्म िे गजुििे िमय श्वेि प्रकाश का उिके अियिी िणों /िाि अलग-

अलग िांगों में विभाजन को श्वेि प्रकाश का विके्षपण कहिे ह।ै 

• (i) बैंगनी िबिे अविक मड़ुिा ह ै    

• (ii) लाल िबिे कम मुड़िा ह ै   

 

 

 

 

 

 

 

                                                अथिा  

 

(B)• इांद्रिनुष िषाण के पश्चाि ्आकाश में वदखाई दनेे िाला प्राकृविक थपेसरम / िणणिम ह।ै 

 

     • 

 

          

 

 

 

 

1 

 

½ 

½ 
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 खण्ड - घ    

34 (i) हाइड्रा में प्रेक्षक्षत अलैंचगक जनन के दो ववचधए: 

 (a )मुकुलन : एक ववलिरट स्थान पर कोलिकाओ के तनयलमत ववभाजन के  

कारण एक उभार ववकलसत होता है। यह उभार वदृ्चध करता  
हुआ नन्हे जीव में बदल जाता है तथा पूणा ववकलसत होने  
पर, जनक से अलग होकर स्वतंत्र जीव बन जाता हैं।   

 (b) पुनर्जनन: हाइड्रा को कई टुकड़ों में काटने देने पर प्रत्येक टुकड़ा एक पूणा 
जीव में ववकलसत हो जाता है। 
  

(ii)•पररभािा: जब पौधों के कातयक भाग जैस ेजड़, तना या पत्ती का उपयोग नए 

 

 

½,1 

 

 
½,1 

 

 

1 

 

 

 

 

 

 

 

 

 

 

Red 
Violet 
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पौधों को उत्पन्न करने के ललए ककया जाता है।  

• (a) इस प्रकार उगाये गए पौधों में बीज द्वारा उगाए पौधों की अपेक्षा पुरप  

एवं फल कम समय में लगने हैं। 
( b) केला, नारंगी, गुलाब और चमेली जैस ेपौधों को उगाने के ललए उपयोगी  
है जो बीज उत्पन्न करने की क्षमता खो चुके है। 
( c) उत्पाटदत पौधे आनुवंलिक रूप से सभी वविेिताओं के ललए जनक पौधे के  

समान हैं।                                             (कोई दो) 

 

 

 

 

 

½,½ 
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35 (i) वथथर तापमान पर एक चालक से वप्रावहत ष्क्ााारा , ववष्क्ाष्क्ाााा तर के 

समानपुावतक होती ह।ा/ै VαI / IαV . 

   

 

 

  

 

 

 

 

 

 

 

(ii) चँूकक एमीटर  शे्रणीिम में जोड़ा जाता है यह पररपथ के प्रततरोध को नहीं 
बढाएगा/ पररपथ से अचधकतम धारा को प्रवाटहत करेगा 
 

(iii) • ग्राफ Aशे्रणीिम संयोजन के ललए  

•कम ढलान और अचधक प्रततरोध 

  • ग्राफ B पाश्वािम संयोजन के ललए  

•अचधक ढलान और कम प्रततरोध 

 

 

1 

 

 

 

 

 

 

 

1 

 

 

 

 

1 

 

 

½ 

½ 

½ 

½ 
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36 (A) 

 (i)  CH4 +2O2 → CO2 +2H2O   

 (ii)    

                         

 

 (iii) 

 

1 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

इिेनॉल ईिेनोइक एविड 



                                                                                                                                    086_31/4/3_विज्ञान # पषृ्ठ-9 

 
 

(iv) 

 
 

(v)  

 
 

                                                       अथिा  

 

(B) (i) 

 

 

    

 

                                                                                                  

 

 

 (ii)  

 

 

 

 

 

 

                 
 

     

1 

 

 

 

 

 

 

1 

 

 

 

 

 

1 

 

 

 

 

 

 

 

½ , ½ 

 

 

 

 

 

 

 

 

½ 

 

 

 

 

 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

CH2 
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  (iii) 

 (a) प्रोपैनाांल       

 (b) प्रोपैनेल      

 

   

(iv)  

 (a) बेन्जीन       

 (b) ब्यटूीन    

 

(v)  

       

 

½ 

 ½ 

 

 

½ 

 ½ 
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 खण्ड - ड    

37 (i) लैंचगक जनन में नर और मादा युग्मकों का संलयन होता है, ष्क्जसमें उनके 

लक्षण लमचश्रत हो जाते है जो संततत में लक्षणों में लभन्नता पैदा करता है। 
(ii)  

F1संतमत  F2संतमत 

यहउन िांिवियों कोिांदवभणिकििाहजैोमािा-

वपिाकेबीचिांकिणिेििुांिउत्पन्नहोिेहैं। 

F1िांिवि में केिल प्रभािी लक्षण प्रदवशणि 

होिे हैं   

 F1पीढीकेपौिोंकेबीचिांकिण 

िेउत्पन्निांिवििांदवभणिकििाह।ै 

F2िांिवि में प्रभािी औि अप्रभािी 

दोनों लक्षण प्रदवशणि होिे हैं  (कोई 

एक) 

(iii) (A) 

क्योंकक अगर जीवों की आबादी का एक स्थान बदल टदया जाए, तो पूरी आबादी का 
सफाया हो सकता है। हालांकक, अगर इस आबादी में ववववधताएं मौजूद हैं तो उनके 

जीववत रहने की कुछ संभावना है। 
[वैकल्पपक उत्तर] 

यटद समिीतोरण जल में बैक्टीररया की एक कॉलोनी है और अगर ग्लोबल वालमिंग 

से इस पानी का तापमान बढ जाता है, तो अचधकांि बैक्टीररया मर जाएंगे, लेककन 

गमी के प्रततरोधी कुछ वेररएंट जीववत रहेंगे और आगे बढेंगे। इस प्रकार 

ववववधताएं समय के साथ प्रजाततयों के अष्क्स्तत्व के ललए उपयोगी होती हैं। 
(अन्य कोई) 

1 
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अथवा 
(iii) (B)  

* झुरीदार, पीले 

* गोल, हरे 
* यटद दो या अचधक लक्षण िालमल हैं, तो माता-वपता में मौजूदसंयोजन के 

बावजूद संतततयोँ में उनके जीन स्वतंत्र रूप से वंिानुगत होते है  

 

 

 

½ 
 

½ 
 

 

1 
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38 
(i) हीरे का अपवतानांक =   

diamondinlightofVelocity

vacuuminlightofVelocity
 

हीरे में प्रकाि का वेग = 
422

s/m103 8




 = 1·23 108 m/s  

(ii) काबान डाइसल्फाइड में  ∠r < कांच में  ∠r < जल में  ∠r 

 

(iii) (a) कांच 
    पानी से सघन है क्योंकक पानी में प्रकाि की गतत कांच में प्रकाि की गतत से 
अचधक है/ जल की अपवातनाक की अपेक्षा कांच का अपवातनाक अचधक 
होता है 
(b) प्रकाि पानी से काँच में बबना झुके प्रवेि करेगा ( अववचललत / सीधा) क्योंकक 

इस प्रकरण म े
             ∠𝐢 = 𝟎 ;  ∠𝐫 = 𝟎 

 

अथवा 
(iii) (B) 

nकांच  = 2

3

 

 nजल = 
3

4
 

 vकांच = s/m102 8  

 

 nकांच = 
( )

( )gvglasslightofspeed

cvacuuminlightofspeed
 

 C =  nकांच  vकांच  

 =

s/m102
2

3 8
 

 = sm /103 8  =   

 vजल= 
watern

C
 = 

3

4

s/m103 8
 

 = 
4

9
108 m/s  =2.25 x 108 m/s   

½ 

 

½ 

 

1 

 

½ 

 

½ 
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39 (i) 

 

ये ठोस और कठोर होते हैं। 
•ये पानी में घुलनिील होते हैं 
वे जलीय ववलयन में या गललत अवस्था में ववद्युत   का पररचालन करते है।  
(कोई अन्य)    (कोई दो) 
(iii) सोडडयम परमाणु के सबसे बाहरी कक्ष में एक इलेक्रॉन होता है, इस 

इलेक्रॉन को खोकर Na + आयन बनाकर यह स्थाई ववन्यास प्राप्त करता है/ 
𝐍𝐚→𝐍𝐚+ +  𝐞− 

2,8,1             2,8 –स्थाई  

अथवा  
 

(iii) (B)  

(i) ठोस अवस्था में द्रढु संरचना के कारण आयनों की गतत संभव नहीं है/  

(ii) कैथोड पर H2 गैस मुक्त होती है । 
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½ , ½ 
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